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SfeEnrseT ¢ 1. DS el daEnd gllwresll udlaurs o _sTensT  esLHemen  FAUTTH SIS
QaEsmeiTeTE|LD. oFaludalsd  GpBwlnUlst SmBEs  saiisraiiuuTenflLib
o Lagwisd Osfalasa.
2. Beuld (oisvegl) &miy emoulenen WL GG aREHINSBGL igssaMBaSBEW
LUWETLUBSS GeuewiBID. LILMis6T euenyousBeE Gusidlsd LSTLIGSHSNLD.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams,
GUIUY : CoHemeuwimen B SHA60 LD eusnjhdHl FOGTUTHEEMET 61(LDSHEYLD.
Note : Draw diagrams and write equations wherever necessary
ugsh — I/Part-1 15x1=15
GOl : 1. Seneidhs elamsseEndEn el Wefldssalb
2. O@m@dsur L g)ns&r@ allenL Heile0 )51 6 BL{EMLLLI allenL_emiLid
CombosBsan GBUILBLe sl ulmerud GFToHml 61(1DHIH.
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

I. flelaBal (hoellen Duglienl sugeIIOlL] DIeVE

a1, [Si0s]” o [Si04]* @. [Sio] . [Si04]*
The basic structural unit of silicates is
a) [SiOs]* : b) [SiO4]" ¢) [SiO] d) [Si04]*

2. pompsLSHEeuTs  ULSTUGD  Hedmet,  Gegiomefuib Gumelis  SHaflomissi
(wenpullst gmuienoluBSHSHULGE sme.

3. CeuBMBiHalsd ULt HgI860 Qb QUTEN - SYFHE0 (LPENM
8. wew_60 &idhH i . OISR 5560
Elements like silicon and Germanium to be used as a semiconductor is purified by
a) heating under vaccum b) Van — Arkel method
¢) Zone refining d) Electrolysis

3. abBsr oufevmisesin ABARCBY Hmeir sufens
ol HOX > HXO0, > HXO; > HXO, . HXO4 > HXO; > HXO, > HOX
8. HXO; > HXO, > HXO, > HOX F. HOX > HXO, > HXO; > HXO,
The oxidising power of ox0 acids follows the order
a) HOX > HXO, > HXO; > HXO, b) HXO4 > HXO; > HXO, > HOX

¢) HXO; > HXO4 > HX0, > HOX d) HOX > HXO0, > HX0; > HXO,



. @L&8ITeLL (Cr07)* swefulsh o sien
ol 4 Cr—O Uewemiiyssit &f swn

& 6 Cr—0 Uewemiiiyssit &M swow

@. owamss Cr—-0 Usmewiusend &0 g
. oimardhs Cr— O tenewiisepd & FLOLDHME)
In the dichromate anion (Cr,04)*
a) 4 Cr — O bonds are equivalent

b) 6 Cr— O bonds are equivalent
¢) All Cr— O bonds are equivalent

d) All Cr - O bonds are non-equivalent
. ugsyey Udeeniygpen suflensuly (Bporemso Couglouflens) Weiumin weMasemsi 2185 UYs
yeollemudilenent  gBLGSSIuE s131?
s F° <. CO @. H0 m. Cl~
According spectrochemical series which of the following ligand produces strongest field and
cause maximum splitting?
a) F- b) CO ¢) H,0 d)Cl-
. 9B WPHL aE allamansE, almaGas Wil 6909 min' eaeflsd 75% elenar Henms)y
Oup CxemeuwiTen &mevld (HILOL FigeiT)
* (5)(3)
3 3

3 2 3 3

= . . | = [log| =
“(le afpe o)
For a first order reaction, the rate constant is 6.909 min™ the time taken for 75% conversion in
minutes is

ofafer o oG(E)  ofi)e(s)

(pBLILEHOLI SHEIFFSHI] DvGHaLgst (fcc) Curdleays Hmen

o 74% o 68% @. 52.38% . 48%

The packing efficiency of a face centered cubic structure is

a) 74% b) 68% c) 52.38% d) 48%
0

. Qoo GaAIYE SHevemen OleiGamBBID (charging) Qsuwuyd Gurgl

o1 Brideiapemenuisy PbSOs il Pb o5 @BEHSLMLEDBSI

<. Gprdsnupameanuisy PbSO4 syl PbO, sua SudenigeGabmLoemL slmag
@. adidsipsmeruied PbSOs Ul Pb o @(B&:aswsml_.a;’.]m@

7. eidifaipemenuisd PbSOs el Pb ois SisEeIgCabpoamL Snsdl
While charging the lead storage battery

o 0,

a) PbSO, on anode is reduced to Pb b) PbSO, on anode is oxidized ;0 Pl;b_
: | » is oxidized to

~ ¢) PbSOy4 on cathode is reduced to Pb d) PbSO; on cathode 1s oxidize
\eireupeusnauB@iei 61%H FRuire QuITbBIw|sienai?
9. LUT6LLOLD - Quuilewi
ol BiL SMHBE SmJFed - UMY |
®. mievy - BleEED

. &6 - QeusuirQeuurul



10.

11

12.

13,

Which one of the following correctly matched?

a) Emulsion - Paint

b) Liquid Aerosol - Milk

¢) Foam - Pumice stone

d) Gel - Butter

Qovl. SIBWTEMLIgsH BMBws GLhbded wHY 3.2 X 107 sellss disal samyhmsi whiy
. 1.8x 10°M & 1.6x 10°M 8. 2x10°M w4 x 107°M
The solubility product of lead iodide is 3.2x 10, its solubility will be

a) 1.8 x 10°M b) 1.6 x 10°M c)2x 10°M d) 4 x 107°M

Sniueneey QEinisenel ambasui Gsibme allsnauls CUTHiuis almensdmsi suflens

2. HCHO > RCHO > C4HsCHO > R,CO > (C¢Hs)z

&t HCHO > CH3CHO > C¢HsCHO > CH;COCH; > C,HsCOCH;

@. C¢HsCOC(Hs> CH;COCH; > C,H;CHO > CH;CHO > HCHO

#. HCHO > CH3COCH; > CsH;COC4Hs > CH;CHO > CsHsCHO

The general order of reactivity of carbonyl compounds towards nucleophilic addition reaction
is

a) HCHO > RCHO > C¢HsCHO > R,CO > (CgHs)2

b) HCHO > CH;3;CHO > C¢H5CHO > CH;COCHj; > C¢HsCOCH;

c¢) C¢HsCOC¢H;5 > CH3COCH; > C4HsCHO > CH3;CHO > HCHO

d) HCHO > CH3COCH; > C4HsCOC,H; > CH;CHO > CgHsCHO

Fnbol cpallemaiil SysodamBTsudst  Bramud efmeuied  gflensmnu DLEOBATTCHEN6TENIL
gregley FBUBSIME.
snyewid :  giflensmiw

SiLlsuLD.
ol G B snyed  @yeiiG  &f Gogud  stgewoTESH  dbObdTer  FMLITer

DUOBADTNN AL pallansill  DLEVEABTEVBET  auelaNe  GHENMBD

66N &SLDTGLD.

ol GaB@m  WHDID ST Erenipw & G snyewILTEIgG  dmmnimatar  Ffiuime
ellen e HLO6VEM6L.

G. gy & agsmrrsb SNeNIL Houyl

F. SaDm DD STFewd GyediBl Heugl

Assertion : Tertiary alcohols undérgo dchydration more readily than primary alcohol.

Reason : Tertiary alcohols are less acidic than primary alcohol.

a) Both assertion and reason are true and reason is the correct explanation of assertion

b) Both assertion and reason are true bul reason is not the correct explanation of assertion

c) Assertion is true but reason is false

d) Both assertion and reason are false

Ueneumd allsnansuflenguist sflsnsnGuirgen X e daiil_piéb.

C,H,0C/— 5 C H,ON —2E0_, 1, CH,CH,NH,
(X)



14.

15.

16,

17;
" Why fluorine is more teactive than other halogens?
18, ' :

~d) 0. - helicil backbone

H,),CHCOC! 1 2
5 g{ 312-1 CH%C;CI - - @ CHyCH,CH(OH)CH.C/
@' : 3 .2 k) : : FF. CICHZCHZCHZCHO
jdentify X in the following sequence of reaction.

NH 1 : :
IC4H70Cl———L—)C,,HQON—-BJ&-)CHSCHECHZNHz

(X) .
a) (CH3);CHCOC/ b) CH3CH,CH(OH)CH,C!
¢) CH3CH,CH,COC/ d) CICH,CH,CH,CHO

m -qsu)L_smgrgl'_(BurrGluG&Ta‘i’ﬁﬁr o _Lait (NH4):S, allenen Lfibgy QamBode@n (poHeienio e T@UTHET
LY. i | :

NO
' NH,

NO, NH, .
©‘NO Q ©\ ' /@\
3. 2 éﬂr HaN NO, @ NO, & _HS NH,

The major product of the reaction between m — dinitrobenzene with (NH4)2Sy is
NH,

NO, NO; NH,
t ~NO, o b) |.|2N/Cf~j\wo2 QNC}; d) Hs/ij\NH2

8) e c)

yssHs BreLiSHme SieiUTeas amsb GHEADS!? |
1. LTS G (Lp&iGaabL e Blensowires 6ug SismiolL

o, B Capsed B uiBss

@. o — SIGem Sibfeumiseien auflens

g, O — Siwell @@Gmmmu ' '

The secondaty structure of a protein refers

a) fixed configuration of the polypeptide backbone

b) hydrophobic interaction
c) sequence of o - aminoacids

ugd — 11/ Part—11 6x2=12
g8maib Qo el B EHHE sl weides. elem e 24 &6 &SL_LTWILDNE
silenLwlefdsaa|Ld.

Answer any six questions.
EepAgy WPempulsd GOMEGID S

Question No. 24 is compulsory.
geflbei LWETLGSSIS Sieudld WTS!?

" What is the role of depréssing agent in froath floatation process?

95 Gameoggeiieaen STLI9EID uenfan SIPls sl enanSBEenL WSl g6’

E@yHDe GUBHSD suEnTW.

_ Define s'olubiiity product of 2 compound.
BbHbE G oNeTEGS:
Peptising agent is added to convert precipitate 10to colloidal solution. Illustrate with an

afibLigeiey  EalpLOS 6 FEOTE DB mIeUS DSBS gapored  CaisslLGADS. sombeny

example.



20.

21,

22.

23,

24,

25,

26.

.8

28.

on WeasLHss sevaiigision Qe[ Jenmi_lgenr  WOGM(LENEBEDSEEG SeMLUULL  &Tyib
15 Gg.i8. @G Weupamaule GueGL UFuyb 4.55.0F.15 eenid. 05N  Weiugsia

soFNEE Hamasms LULGSE emiLBluiulL  WeisemL Sy 15Q ey,

SEFFEIET B &HL SHSHIHSBEN LOGILIENL]  ESITEHIE.

A conductivity cell has two platinum electrodes separated by a distance 1.5 ¢cm and the cross
sectional area of each electrode is 4.5sq cm. Using this cell, the resistance of 0.5N electrolytic
solution was measured 15Q. Find the specific conductance of the solution.

t — SwLenLed SeOEHaDTme D6VD  HeVbS L @BymBolenL  LWETLIBSHS  SHTTLENET60
Gaiowre SsmMIRCMBEL DmLWF CFuiuw Gwenor?

Is it possible to oxidise t — butyl alcohol using acidified dichromate to form a carbonyl
compound?

QUETFTEIIMABYEIBHES! OTVENSL. LIFME EFMLD sleusurpl Swimfium?

How will you prepare Malachite green dye from benzaldehyde?

etteu(mausneumens  suflenaLBHHIH. _

(i) pKy waiyselss @orig aflens : CoHsNH,, CsHsN(CHs)z, (C,Hs),NH, CH3;NH;

(i) &1y euedewwwlsn gmeuflens : CgHsNH,, CsHsN(CHs)z, (C2Hs):NH, CH3NH>

Arrange the following.

(i) In decreasing order of the pKy, values : CoHsNHz, C¢HsN(CHs)a, (C,Hs),NH, CH:NH>

(i1) Increasing order of basic strength : CsHsNH,, C¢HsN(CHs)o, (C,Hs),NH, CH3NH;
@yemiLmd  euflens @17 2 GourasPHear manlajh (X) yeng (Y) 66 Guirymeniledr
Baiwsgi_an slemenylibs (Z) aem @Bs@w Snamiulene HHEBHI. X, Y, wvppo Z enwl
HEWIL 3155,

A hydride of 2" period alkali metal (X) on reaction with compound of Boron (Y) to give a
feducing agent (Z). Identify X, Y and Z.

g8s@Ib Qwm alamsseEnse el welss. ellenr e 336@ SLLTWITS
allenL_wieM &6y LD.

Answer any six questions. Question No. 33 is compulsory

geo. .ufls  onfeold @m BiIBsGD SRl  AHUSHMET  HGhSH  CIBSHHIBBT_BHEHL6H
61611 5.

Show that sulphuric acid is a dehydrating agent, by giving suitable examples.

QoL FOlFHBD BFTIOMIBET 6IIDBIED  6T6i6NT  Bjeney Gl &Gmn&&;ﬂsﬁr' uswiLselevibbo!
eisueuTml LoTRILGABE?

What are interstitial compounds? How they differ from the properties of its pure metals?
URBL60 BlansolLBHSHE0 QBB 6T6IMTed  6T6iTaN?

What is crystal field stabilisation energy?

Uips Sleiobisamne Ligs sulgauoBn Saoriseflalmba CoupiL®sHis.

Differentiate crystalline solids and amorphous solids.

|
ug® — I/ Part - III 6x3=18




34.

35,

36.

b)

LsoLigBETen ellenanGausLonbm ellemeruisd Lyl Seuiseds LM  eTetTen?

What is the role of adsorption in the heterogeneous catalysis?

SYAVAUTEL. BT SHSH6V ellglemw  anni FOGUTL6DL & FHme.

Qtate and derive Ostwald dilution law.

eteuplo GODUTLE CHTUIGMST 2 mhaumhah el Liflsssies QuWTEameT S1DBIE.
(i) GusbeomesyT (1) GuNGLM
Name the vitamins whose deficiency cause
(i) Pellagra (ii) Beri — Beri (iii) Night blindness -
IDSGLD LISOLIQEETT 6T6imTed 6Tahien? e1B&@IbHT [Bassi SQren® Hms.
What are bio degradable polymers? Give two examples.

(iii) Lomemevas@mE

. eneenFCym ellmenuisr eflenemeuin (LPEMBEMI 6611 G 5.

Explain the mechanism of cannizaro reaction.

uG&® — 1V /Part—1V Sx5=25

SPESTGID el Emess ellenLwieMdsajib:

Answer the following questions.

a) oimemays Baiiomidse s Qememigmed Llememiiiy Oarsiiensuils CaT LTGEMmeT Fnmis.
' (D16060))

) salo aflens o1 Lsusnemuies CUTHSHEEBH LOBEUILD 19 eMEHE 6166 BIL_SHns
BWMUILG SE16.

ii) XeOF; — 6b smemiL@io Qe aseoliy wimg?

b)

DS (LPVBID DEMLOLIENL H([Hb.
a) Mention the main assumption of valence bond theory of coordination compounds.

(or)
1) Justify the position of Lanthanoids and Actinoids in the periodic table.
i1) What is the hybridisation in XeOF,? Give its structure.

b)

2) i) seaflo Gueiidsr saIILGIS wrgl? i esisungy) swifléssiuGang?

ii) WleiiGeugIMiiy  (pemmuisd Sideflwn  1IM&056EH56d60 SyTenur.

IG5 S )
UWSTIUBSSLILGSBEI?

Coupiun@asit wireneu?
i) smimen BOIFONGHT B HEUMBHET 6T6M6U?
©) Which is known as Inorganic benzene? Ho
ii) What is the role of graphite rods in the elec

e6UGleT (T UMBHGD 2_HTFewiid & ([Hb.
W it is prepared?
tro metallurgy of Aluminium?

(or)
b) i) Write any three differences between order and molecularity,
i) What are the two types of buffer solution?
i) Ereveurafls LOemend G 1968 1oy s emem 6T(LDEIS.
ii) UG BevEFHE0 (intercalation) sereiimmed ersisar?

Give example for each type.

a)



37

38.

b)

b)

b)

a)

b)

(2160605)
1) uTebILITEEE BHID LIT6ODE SNy  auenyLLIQg.
1) oG by — BB RmemAD WsTIGMbsETar L - UBEED OBID  Dysiam s
FLDETTLITLIQEMET  6T(10G15.

i) What are the conventions used in Galvanic cell notation.
11) What is intercalation?

(or)
1) Define Emulsification and Deemulsification.
ii) Write Debye — Huckel and Onsager equation for a uni-univalent electrolyte
S|DHEWIL  LOTHDBHISENET  6T6UEUTH @fﬁ@_&;@]ﬁmuﬂ.
(1) Bl Cym Qusiider — N - ememsoenaml gréseoler
(1) yriuemeno® — Ll - 1 - ouse
(i) <efleSst — p— eprCrr jafess

(SI606VG)
1) Gprelsst semred ersiien? Gpna) GFwsourligs allenar sub(pepeni ellends.
i) 9psBLmensy Gamguid - UTSIasH Sevenel  (psisisneoulsd UGHWene| @BoHEGD

QUG eTsiTen Blapib?

How the following conversions are effected?

() Nitro benzene— N — phenyl hydroxyl amine

(ii) Propanamide -— Propan — 1 — amine

(1i1) Aniline — p — nitroaniline

(or)

i) What are enzymes? Explain the mechanism of enzyme action.

ii) What happens when fructose is partially reduced with sodium amalgam and water?

i) X wpge Y 8w sgmssst BCC ugs  ommwlnfamenr o meurdedsmen.
BEUTEF & BT 585601 @psméuujlsb X ombsEpd S omwusssy Y oemieyd G,
QupIBIBEHI. DFCFTLSSl6 SUTUWILILITE 6TstTen?

ii) CsHjoO eigid  apevdbanm eumiun®@ Gaerewi  (A) elspid  sriusnensd  Gsiiowmsig)
Grmguid enuFsMUIL(BLET ULIgs eallpmer SHBAMFH. Gsd g SGwTBLTumiD
sllenensg o LuGsng. Gafon (A) g C.OuslksmrFme @b E 68 60me0
stefled @amiod (A) emeu HewiLile. '

(EEEVE)) |

CsHiO o6l cpsudsampl -simu'_lurr(Bsml_uJ. rpt (A), oFmeney oLt HI o rar

CRILUUGSSID BUTH @RTemiB  E0MEBED (861_1361;)50@555&561! Csrhssng. Goaibd @Rsamen

BIMpUGEs, Caiwkss (B) whgib (C) e mansdng. B g o6F@Bammb Geui (D)

oD SIFEVD 2 BeuTEBaL. Gogud (C) s uoAeBapp G &8s (E)

2 poumaipa. A,B,C, D wpgh E g sai@igss sﬁlsmmsn?sn (o)1



a). i) Atoms X and Y form BCC crystalline structure. Atom X is present at the corners of the
cube and Y is at the centre of the cube. What is the formula of the compound?

ii) A carbonyl compound A having molecular formula CsH,,0 forms crystalline
precipitate with sodium bisulphite and gives positive iodoform test. A does not reduce
fehlings solution. Identify ‘A’.

(or)
b) A ether (A) CsH;,0 when heated with excess of hot concentrated HI, produced two alkyl
halides, which on hydrolysis forms compound (B) and (C). Oxidation of (B) gives an acid

(D) where as oxidation of (C) gives ketone (E). Identify A, B, C, D and E and write the
chemical equation,
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(eymadeod wpmpid SO / English & Tamil Version)
STV Sjeney : 15 PO mssT + 3.00 wewd Gordg WHUGLeRISST : 70
Time Allowed : 15 minutes + 3.00 hrs Maximum Marks : 70
Sifleyemyset @ 1. omasE alaimdasepd sl ugeursl 2 _siengn  saiLgsmen  FAUTTSHSIE
Q@meITENaYLD. siFsLULSHelsd  Gopwlcluleas oenmes  sevsrefiiiuTenflLLb
o Lenmguingd OFfalldsab.
2. [SevlD (SI6L6VEI) S enLouilemeor LOL(BGL S1(LDBHIAUSHBELD
2lg&ECHTYHUBBGID LWLBLGSHS Gouelii(B. LLMIG6T IS BE Guetdlsd
UWeTL(B & SHLD.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
~ inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GUILY : Coemeuwitenr G S ULID eunIHEH FSLTHEMET 6TIRHALD.
Note : Draw diagrams and write equations wherever necessary
ugd — I/Part-1I lelﬁIS‘;
Uiy : 1. Smasbs alamssepsEn alami wsissad :
CarBessiul L BTaE elmLseisy Waab giymLw elmLmus CaithbosBsHE
GBI BLeT aflen_uienenud Cidhal e1(pSHIsb.
Note : 1. Answer all the questions '
2. Choose the most suitable answer from the given four alternatives and write the

[}

option code and the corresponding answer
1. JereumsuemeuBmiet Hoummen gamml 61&17?
31 [Ni(CO)4] — Breiipd), UMITSMHS SHeienIOUL|NL LIS
3. [Ni(CN)4]2'— SHONFSHITLD, MLWITHMHS HEMENLOU DL LI
8. [Ni(CO)4] — mrrsii(pad, eHLWTSTHS HETENLOWIDL LIS
FF. mi(CD4]2"“mn@r@£, UTIT&THS SHETENLOUEHL LI
Which statement is incorrect?
a) [Ni(CO)4] — Tetrahedral, Paramagnetic ~ b) [Ni(CN)4]* - Square planar, diamagnetic
¢) [Ni(CO)4] — Tetrahedral, diamagnetic ~ d) [Ni(C/)4]* - Tetrahedral, paramagnetic
2. ewapliBur uredugey Sibleud e &My SisuLD

3l | . 2 8. 3 W 4
The basicity of hypophosphorus acid is
a) 1 b) 2 c)3 d)4

3. epp : QUi Lrag L&EMIH A6 Bt bsamiasd bsvsseienio UM IH B &I
SMIWID : Sieiwb FeoBul BITHBLIGLILGHL a1 T60
Sl GabEl WHDID SMyemd @reiGh il Guaud SmemLTNE Fifbe FhwTm eTHHD.



Q. &b BED  sembd Gren@n s Ggd  SMIEIOTEIS spPine  FAuTE
&ll6M & BLD6VEY.

.

FF.

Dol Ff ouented Sryembd SHeuml
. 2B OBPID SNewid BFeRIGL SHeuml
Assertion : Aqueous solution of potash Alum is acidic.
Reason : Aluminium sulphate undergo hydrolysis.

a) Both assertion and reason are true and reason is the correct explanation of assertion -

b) Both assertion and reason are true but reason is not the correct explanation of assertion
c) Assertion is true but reason is false

d) Both assertion and reason are false

psRmaBseisn CuISeuTe usmCambn BHanev. g
) +2 o +3 @. +4 F. +6

The most common oxidation state of Actinoids is

a) +2 b) +3 c) +4 d) +6

o _OLTENOL. HTEImal Geusiefusssisisdmha LIMs05656D WD

Sl 2_HEGH0 oy STHMHsOT HIPEIE0 IDIHHE

8. uBISHH6L F. Beenps ALY WD

Wolframite ore is separated from tinstone by the process of

a) Smelting b) Calcination c¢) Roasting d) Electromagnetic separatinn

LefTeumeuEmTsUBHIGT TSI SHANBTENHI7

oI QpTeHsefen CFuIEOLITL ML FHBHS BFFIGSS P

. SN0 QBT H6ITENT60 Qpramaisn alameaGausonbo QFwsHUTH GHMBSBSHI

8. Oprg elmetas oTBBTES dHS CHTHHI QEweoTBEID SHeenoeml CUBDIGTETS]

7. owowiniesr pH L& LiemuL CuTGHE OBTgH  eleneaGausonbn allemenseier Geusie
SIMLOSBS! S "

Which of the following is incorrect?

a) Enzymes can be inhibited (poisoned)

b) Catalytic activity of enzymes is decreased by coenzymes.

¢) Enzyme catalysis is highly specific in nature

d) The rate of enzyme catalysed reactions varies with the pH of the system

QLOT&HHLOTES 965 gD el LS  GubplsiTsn TeVEL_Tetiemerllel  TewIEmI M S

o 6.022x10° & 6.022X 0% @ 6022x10%  m 6.022x10%

The number of electrons that have a total charge of 965 colombsis

2) 6.022 x 107 b) 6.022 x 10% ¢) 6.022 x 107 d) 6.022 x 107"

o 2 GeorsHBe (@il emIoW SETEDI o@ daligsit (FCC) allefiby mHemd 82 pm
aefico, o Goorm gl 24TO A -

2 8
o1 0.04 a. 002 B i3



10.

11.

12.

In FCC unit cell of the edge length is 82 pm. The radius of the 'metafl__\atom s A°

- ETIR S s el
a) 0.04 b) 0.02 c)8x 10 d) 5 _
90 olmauls slmmGas wrfeduls w@oy 2.3 x 107 lit mol's”.  okialmends;
aleneueusn s
S YBW aumd Q. (PHE s [ @HLTD 6UnE . (PEHIDTD eI
The rate constant of a reaction is 2.3 x 107 lit mol™'s™". The order of the reaction is
a) Zero order b) First order ¢) Second order d) Third order

LIsiieumEISTIDBLIST GepaITs: SmyLbangll Hapamrs o Uls HamyFe 6ol7

3. owell Quedsd > somyPpst Gumssd (Ksp)

95 Sjwief QU@éa&Lb < smrgiper Gumdsd (Kp)

B owel CuEssL = smydps CuEssD (Ksp)

T (o) wHDIb (&) Srea@En :

In which of the following cases, the sparingly soluble salt solution is unsaturated?

a) lonic product > solubility product (Ksp) b) Tonic product < solubility product (Ksp)

- ¢) Tonic product = solubility product (Ky,) d) Both (a) and (b)

UlsreubeusmeuBmiet 1 Flwina QLT@hsalsoemnsy

ol BGwriifed ' _ —CH, - C=CH - CHy
' t
0
9|, BT — 6 — —-NH - (CH,), - NHCO - (CHy)4 - &‘]E
&. GLMeSsh — '_'__QCHz-(:Hz-o-c_Q_cl}.]ﬁ
_ |
0
. uTedoisfBeom BLayed — +CH2 -CH, 13
| EN
Which of the following not correctly matched
a) Neoprene ~ e C: CH - CH
0
b) Nylon - 6 — - cHy,-NHCO -(<:H2)4.(LL]3
. B
¢) Terylene - _LocH,- CHz-O-(ﬁ_Q_'EJ:_]ﬁ
o 0
d) Poly acrylonitrile - Lo, -EHZ-]E :
N

areumd dnppiseied aig eflwimeang?

S BuselCures® + ureburfé aufeon — BHuiselCwren @
o). PuysafCurms® + &mrb — BudelGurmLG

@. gideemy + &L — _n;‘]tgdasrﬂ@wnsm&@

rr n PpuselCurens® — uredplujsafiGuiren B



13

14.

15.

16.

17.

18.

19.

20.

Which of the following statement is incorrect?

a) Nucleoside + Phosphate — Nucleotide b) Nucleoside + Base — Nucleotide

S , ;
¢) Sugar + Base — Nucleoside d) n Nucleotide — Polynucleotide

Uetreu®d  eflensmulenr ‘D’ llenenQLITHem s
CH3C1 KCN—}A ' m,o yB

SHETL1 5.

My se—2
ol. CH3;CH,NH, &, CH;CN ®. HCONH; 7. CH3;CONH;
The product ‘D’ of the reaction

CH3C1 KCN 5 A H"!HZO_}B

B S C-—2 5D

a) CH:CH,NH, b) CH;CN c) HCONH; d) CH;CONH;
o]

AN

OH @6 TUPAC Quuwit

9. Uyl - 3 - memuwldssidson a_l_, A - 1 - el - 4 ag,,u.'ﬂa‘a@uﬁlmm

@ e - 2 - mer - 1 - uis oudeod H‘.Lﬂu_ll'_-3-ﬁ‘65l—l-*‘3’pﬂ$<9"ﬂ6‘)lb
0]

The IUPAC name of NI\OH is

a) But - 3 - enoic acid b) But - 1 - en - 4 oic acid

b)But-2-en- 1 - oic acid d)But-3-en-1-oicacid

YeieumeusnauBpiel 615 aueleno Wbs Siflsod?

S 2 - enplBymisumed a1 4 - @GenmGymiicmed

@. 4 - enpLGymiemmed F. 3 - enpLGymisnmed

Which of the following is the strongest acid? _ -
a) 2 - nitrophenol b) 4 - chlorophenol  ¢) 4 - nitrophenol d) 3 - nitrophenol

ugg — I1/Part-—1II 6x2=12

gCoHeId WD elamEsEnEe el Lemss. el e1ewr 24 &@ SLLIWILONS
ellenLwierfdsea].

Answer any six questions. Question No. 24 is compulsory.

[Fe(CN)s]* wibgid [Fe(H0)s]”" sfwepfisn Bissmysdsst GasiGup B ws!
6j6017

[Fe(CN)s]" and [Fe:(FIzO)ﬁ]2+ are of different colours in dilute solutions. Why?

Lu(OH); wbpid La(OH); 60 S STISSHENID o mLWSH 61517 ee?

Which is more basic among Lu(OH); and La(OH)3? Why?

Dy 1euGESHHe0 eTeIeITH @Benmflel Swimfitiumi?
How will you prepare chlorine in the laboratory?
upliL] &6 ge0ei ApUIWEOLIBET wimeneu?
What are the characteristics of adsorption?
Hiisso ae () S6IDIEY sleien?

What is Buffer index B)?



21.

22,

23.

24,

25.

26.

27.

28.

29.

30.

31.

0. — D(+) @& Gasrenuiy Gammenir DIEMIOLIENL  EUEH]E.

Write the structure of o, — D(+) Glucopyranose.

6THH660  &emsTdssmmensy Quif @IBuwimgds oNfdhsILer oubaImGamn aflaearamw 61(LD&I.
Write the chemical equation for oxidation of cthylene glycol with perlodic acid.

Lo DIMOBIIGHFHB6TT £ _Ledsd siiisumm) Glgwed jflasizeon?

How the transquilizers work in body?

eiise0Has0 Zn(s) + Co*" = Co(s) + zZn** st6iim ellenan Mampadmsl. sissgder L
=+0.76V , E° =+0.28V

emf smsdFs. QorBoEsIULLg) EOI ColCo*

Znl Zn**

The reaction Zn(s) + Co™ = Co(s) + Zn** occurs in a cell. Compute the standard emf of the

cell. Given that E, 0 e =+0.76V and Eg' o =028V
ugd — III/Part—III 6x3=18

Jer@Ib> QU elenssamse aoLweilss. oo e 33 &@ SLLTWLIOTS
eflenLweldsayib. '

Answer any six questions. Question No. 33 is compulsory.

UsiouGeuanabens sebs o smyemmusenLsr lords s,

3. &l ra . HD &HFH

Explain the following terms with suitable example.

a) Gangue b) Slag

- Bwiremevl Basit LB @MY suenye.

Write note on Zeolites.

afelwid oB@ID STETalle LWSIEmaTs Hms.

Mention the uses of Helium and Argon.

QuIe MW SaIFFSHT MU CUISGSBET FHeisnssmands 60018585 (B .

Calculate the percentage efficiency of packing in body centered cubic system.

WeiBsud euflems er6iipmsd  eremen?  Gsueuflens srsnenrrgjj ‘oiflotend  oepLwDd  FHmenen
sLBW UweTtUGaSmE? .

What are electrochemical series? How is it useful to predlct corrosion?

t- G . i
DIANGFT6L ﬁmﬂilg:"m@ ) A Cl, /FeCl, N B N C

A, B, C gudweaubens sewmiLnfls. Guatd sllsnsnulens m@g} QFuis.

Anisole "’“f;"jf:’;"’"“""’ »A—TC g B Complete the above reaction and Find

AB.C. . 555

(A) eigub &fos Baio @EEB®SWILBES G (B) Csrhasdmg. ‘B’ oyemg CHCls
B 2hsvEantd sops KOH o tar Gsiwn (C) g Osr@ésdns. Gwab (C) 8
sllmanGous bl weiellamsoulsl @hEsd GFuw N — Gusds oefeld HomLsons
siedled A, B wpmid C g sani@ily — elevanasenen 6T(D&IB.”



32.

33.

34.

35.

36.

An organic com
oun L
pound (A) on reduction gives compound (B). (B) on treatment with CHC/3 and

alcoholic KOH gj /
gives (C). (C) on catalytic reduction gives N — methyl aniline. Identify A, B, /(B

and write its equation,
1) GLrgouTefed
ii) sriundSedds

i) How will you

|
|

i%;‘ﬁigmmj Gusiremuis onfleon HwmAimi? /

" B@IssM Ger@I> QIIE BrTEMmEBDET FRSHIS J
S Wi prepare benzoic acid from toluene? |
i1) Write two tests to identify carboxylic acid
sirfefwed  Fwsm BV '
wriledasi  (em LD(:” UILOL  uweiu@sg, Ti wppd T GaiLPmessisn  eldaGas

i ' Gopbw ki wig k, eysusmabis wHiuseisiobs derioim uppsd Ea
E.; ) &Twa EFLDGGILlrrngemsmé, @@Qj]fg& ; ;r

erive i : ' ‘

enius equation to calculate activation energy from the rate constant ki’and k; at

temperature T, and T, respectively. /i
uggd — IV /Part-1V

BPS&TEID ellamEsErEE L wWelssayb:
Answer the following questions.

! §x5=25

a) 1) GCamGermefenL & Gaiwrisefar L S6T Wiensu? e
i) &M wppd CO b Gyeigemis Zn0  oa gbés, ADbs BEED M
61517 ej6ii? . e TS
(S106V1)
b) Gur_Lrflwd oLGCImeL swIldsmen alensEs.
a) i) Mention the characteristics of interhalogen compounds.
ii) Out of Coke and CO, which is the better reducing agent for the re
(or) |
b) Describe the preparation of Potassium dichromate. s '
a) i) AICh 219® BlemeuLILISEIENLOUEDL WIS aamed TICh: BemeliysoaenowBpgl. 6er?
s6ey STamILILGLD enemiilen setentoulene - ellenbsEGs.
(Sisv5) ' Figg !
WOTHBID EIEDTEL GIsan? 2 SITEND HBHS-
gL ‘T epoWBBmST AleTSEEGS.
here as TICl; is highly unstable. Why?

duction .of ZnO? Why?

ii) o BGeurs SHTTLIEN6I

b) i) mTGeIT el enenGeud
ii) Ggerieumen euenTUL S
a) i) AICl; is more stable w
ii) Explain the bonding nature in metal carbonyls.

(or)

a) i) Whatis Nano catalysis? Give example.
ii) Explain ‘f centers with a neat diagram.
a) i) @O WWHH WD SHanbETa ASTMBIUGHSULLL  FDSLITL ML suBed.
ii) yeirer @smmurr(ﬁasmﬂeﬁr SUENBLITLENL  6T(DGHIS.
(/OG5
Lufleorenr Q& TLiienL eume.

b)i) pH wpguo pOH 56 8P |
AN GHS —— HMIHBET Qu@mEs - gy eteusuTml

if) Guoneort  BPIHDS
ﬁﬁmuﬂ&&ﬂu@ﬂ%@?



a) 1) Derive integrated rate law for a first order reaction.
11) Outline the classification of point defects.
| (o)
b) i) Derive the relationship between pH and pOH.
if) How solubility product is determined from molar solubility?
37. a) i) evvaultan o éACammmid LoPDID eveTiLel Quemos eflsnen LB GO suenyes.
i) oflgs  oufmsENnhn ot  oifeEhe oBED A DL &Gy
eTeusuTml SwmilésuuGang?
(Dievsvg)
b) i) einIGssflenr o ulflus (pdawsHEnsmeds FnDIb.
i) GioTds GsmplieTey (TFM) w&iy ubpl @iy suenys.
a) i) Write note on Swern oxidation and Schotten — Baumann reaction.
if) How will you prepare acetic anhydride and acetyl chloride from CH;COOH?
| (or)
b) i) Mention the biological importance of Lipids.
11) Write a note on TFM value.

38. a) i) 9muguist (monomer) Gapfemsng 0.05 mol L o5 2 6ten @muy  (dimer)
2_ BTG @TemiLmd oems elmauis elenanGausnd 7.5 x 10° mol L' s, elananBeus
wrmledulleneds  aeminis.

i) Usiieulo eleneen 14iHe) Gauis.
(*) CHy-cH=c-cH, _ D% _ 4 (y) CH;COCH, —gH-tI,{—g-.
éH3 (i) Zn/ H,0 '
(SHV6V1)

b) CsHa(A) aiaip sflios Briww Hg™ / HoSO4 $ByipioenLbs Gsion (B) Gar@abns.
(B) oBwrLmurne Csrpamande 2 L uGb. Gsion (B) s NH, — NH, / C,HsONa
2 Lar aleman Ufibg enaml Grramiuss (C) ms ,&,(r_r,&lm@ BiT5E N,OH (eitasfensouisd
(B) semgy HCHO 2 L6t eflemenu’ ¢ Gaiwb (D) g6 g@ﬂm@ A, B, C oo D g

&6wI(BLIg. AleNEIHEMET 6T(LDHID. :
a) i) The rate of formation of dimer in a second order reaction is 7.5 x 10> mol L' s™" at 0.05

mol L' monomer concentration. Calculate the rate constant.

ii) Complete the reaction

_ )0; Mg-Hg
(*) CHy-CH=C-CH; — 22 5 ? (y) CH;COCH; —pgy=»°
be, (20110 .5
A :

b) An organic compound C3Hs(A) on hydration with Hg** / H;IQSOJ, gives compound (B) which
gives positive iodoform test. Compound (B) heated with NH; - NH; / C,HsONa to give
hydrocarbon (C). (B) also treated with HCHO in the presence of dil NaOH gives compound
(D). Identify A, B, C and D, Write the chemical reactions involved.



Www.waytosuccess.org

wrgfl eflewnggmsit I/ Model question paper I11
Gsvpleney @pewn_mb syeai® / Higher Secondary Second Year
Geouglufwed - Chemistry
(QuEsleon> wppd S / English & Tamil Version)

groold ey : 15 Fhflmiser +3.00 wewf Qures 1WwHUCLEsT @ 70
Time Allowed : 15 minutes + 3.00 hrs Maximum Marks : 70
ofeyemrseT ¢ 1. oimends  ellemmdsepd Flursl uSoursd o _sfensT sra‘nug:,emsm FRuTTHHIH
Csmeiena|id. SiFGLUGaIeL  Gemmulmiiie J@?&Emﬁ]uunﬁmﬂ'—w
2 _Lemguined Csfalssean. ““--(-T..’“'Z\
2. poob  (oevevs)  emUy  eowuler /Jr flﬁn@m@w
NYECHTYBASHGL  LWSTIGSS CouswiBLb. i r,\Ef*éﬂg)iﬁ QListTEFl60

e e oL A

LWISTLB & 5H6)LD. S
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately. -
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
Sl : BHemeuter @I Halsd LLD euenIHEl FOGLTHSENET SIS
Note : Draw diagrams and write equations wherever necessary
ugs® — I/Part—1 | 15x1=15
euly : 1. omaidHgs efanbseEns@n el wefdsa
2. QeMhsslulL BreaE ol sl Weab gHLmLW e)ﬁlacs)l_abu_lg) CaiboGHBHIHHI
GUBUI_GLeh aflenullenemuyd GFThHEI 61(105I%5.
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

I. @Cmmemwsd GGammemr® Gempwid eman Témeaps wEhssT Hnssmrsma QsTHSSnS.
I|H60T LEHF6T BmSSHMNG smyewromsr gwerfl

) Cr,0, o) Cro, ™ @) C0s  ®m)Cr0,

Chromyl chloride when dissolved in NaOH solution gives yellow solution. The yellow
solution contains

a) Cr,0; > b) CrOs * ¢) CrOs d) Cr,0,

2. SmIys augaid Glsmeor Lips JLITGT Lips 9F&SES6T LHmIh Caremiissfs Qsm_iy
&) azb#tca=Lf=y=90 &) a=b#ca=f=y=90°
@) a=b#ca=5=90°y=120° ) a=b=ca+B#y=90°
The arrangement of crystallographlc axes and angles respectivelv i :
mrdatye p y in hexagonal crystal
a) azb#tca=LF=y=90° b)a=b¢ca=ﬁ-_—y=90°

C)a=b#ca=0=90°y=120° d)a=b=ca¢ﬁ;¢y=90"



3. QuesdeSlssr 6TEHTLIG;) 6T6 6 I6mas LObHG)

3) 6u6dl Hleumyssof) 9b) misvoTemudl 6T
@) 2_ewriefipliy asmé e ) gLhlev [
Penicillin is an example of

a) Analgesics b) Antibiotic

¢) Anaesthetic d) Antacid

4. [Co(NH;),Br,]ClI - 6T6OTY) 9){6T)6TTT 61 Cafusdng erédiuLomer Lommnfiuid
3)) auges HYID uehurged Lommniliuitd
Q) Suige LHYID e Sipme Lormluitd
8) elspnd whmb Sjwerflurgsh ombplwin
/) Guig6u rHeluih o Hi
Which kind of isomerism is possible for a complex [Co(NH3)4Br;]C1?
a) geometrical and Ionisation b) geometrical and Optical
¢) Optical and Ionisation d) Geometrical only
3. &Py £iss emlfs SbsHe Ay gEE g 2 Cursd somrHmng 6T
SAMLTSY6IT GumLLy CleusGuimieugedemey
amyewrn: - oplflé ouflon e 5HNCaTl 9iF manL resmer 25 1gCarHmid
Q&S G
- ) S Dm LHYID STrevTd @@L &1, Smyes S DmiGsrer aflurer aflardasin ISl
Sb) S DM LHWID STeveTLd @ Gd Ffl. SmyevaTLh S e sflumer afleréei g
@) s pm & gy eurmed SmTeTTLD Sy
FF) & D) LMD STewTLd @TstorBld Seum. |
Assertion: A small piece of Zinc dissolved in dilute nitric acid but hydrogen gas is

not evolved
Reason: HNO; is an oxidising agent and this oxidizes hydrogen

a) Both Assertion and Reason is true .Reason is a correct explanation for Assertion
b) Both Assertion and Reason is true. Reason is not correct explanation for the assertion

c) Assertion is correct but Reason is wrong
d) Both assertion and Reason are wrong.
6. Q@ Wsmams almeuflsir J(EOTEUTLEY SiTeuld 5 EILAIL_Muse eTesled aflsmesr 99.9% @)

QLG SmevLd
9) 99.9 Bl ruser gy) 49.95 AU e @) 50 fuflmuger ) 10 BBl riser

The half life peribd of a first order reaction is 5 minutes, the time required for 99.9%
completion is nearly equal to
a) 99.9 minutes b) 49.95 minutes  ¢) 50 minutes ~d) 10 minutes



7. @EHSGSTE G oy oG sresflen Htreu(mio 6175 &afeneor GEH&EGaTEE QUTHHSTS ?

1."0:.

11.

3) B8 el Qa@iLSksme

o) @81 SF GG smrewfiy s aflsmemLHsudsoeme
8) B8 esGsmmear QeTEULS D

) @& Lreussflsir smremflsmin RO\ Goddme

Glucose 1s an aldose. Which one of the following reactions is not expected with
glucose?

a) It does not form oxime

b) It does not react with Grignard reagent
c) It does not form osazones

d) It does not reduce tollens reagent

(CHz3)3C-CH(OH)CH; &2 ™50 X (el sflsnenGuirsit). X- starug)
9) (CH3)3C CH=CH, &1) (CH;3),C=C(CH3),
@) CH,=C(CH3)CH,CH,CH,

%) CH,=C(CH3)CH,-CH,-CHs
(CH3);C-CH(OH)CH; <2259 x ( Major product). X is o
a) (CH;3)3C CH=CH;

b) (CH;3),C=C(CHz)2 =
C) CH2=C(CH3)CH2CH2CH3 d) CH2=C(CH3)CH2-CH2-CH3- >
log = wimid log p @ @mLifemsr Gysin & Ly sufshd staiug Gam st emiy
- .
LHYId y &S0 Qe GHioyeraflse (pampGwu N
1 1 1 | 2 ™
2 —.k : —,logk T) log —, logk
QD n’k &b) 10gn’ @) n % ) Og-in O_g.

For Freundlich isotherm a graph of log % is plotted against log p. The SIope of the line

and its y — axis intercept respectively corresponds to =
: -l—k c—l-,lok - d)l ll k
a) ;,k b) 1ogn, )n g ) log f?_,a‘og
@\ eLp6VSHEn M6 Uil flevmams) Gameiid i FeiT simsllmsuudisy eflemsoru (B 3-
@@(ﬁmrr—z—(amg,.ﬂ@@us&r&_sh somL e 2 HaIT@LD eflememumeng)

o)) umeol—lLoarefleneT o) Camitl mpL e @miésin

@) smaGuis aflensor ) 6VSMLL60T—GlLemLosar aflement -

Two molecules of propannitrile in the presence of Na/Ether to form 3-imino-2-
methylpentanenitrile. This reaction is known as

a) Baltz-schiemann reaction . b) Thorpe nitrile condensation

¢) Gomberg reaction d) Schotten - Baumann reaction

o i&GsT Gurflé oufiowrerg 373K Gautuflmauils Fitse mﬁ]smsméa@ 2 I U(HeuSmsy
2 (HEUTESLD (&L eSlemam GILIT(m6TT



12.

13;

14.

15.

3) Gl LrGumflé gyflsuid &) Cumfls gyuilev Hifled]

@) GummeT Lommib o486 egsir M) QL pmGumfls gyflsuid
Ortho boric acid on dehydration at 373K produces mainly

a) metaboric acid b) boric anhydride

¢) Boron metal and Oxygen d) tetra boric acid

Wstreu(meusmraumled sflure Qurmhstss) g ?

(hSH@LD STyewf] aflenaemulletr Gy

3) Zn/ Hg / ConHCI SHlemGlosiTaer @(h&aLD

1) LiAlH, 2 _60L1 Sl6weuTl 6(HS LD

@) Pd / BaSO4 GrrasameiT. H&ELD

) SnCl, / ConHCI . 6LeLIeoflT 6(HIG LD

Which one of the following pairs is not correctly matched?
Reducing agent Name of the reaction

a) Zn/Hg / ConHCI Clemension reduction

b) LiAlH, Wolf- Kishner’s reduction

c) Pd/BaSO, ~ Rosenmund’s reduction

d) SnCl, / ConHCl Stephen’s reduction

esreu(meusmraumiled 2 Uiy BrmiL@Senis e 2 LuLmg o UL 6T ?

9] Camgund oyl G o) joGlomeafhud gyl G

@) oyGurefiub @Gstreny® i) Gemgiutd smml G

Which of the following salts do not undergo salt hydrolysis?

a) Sodium acetate b) Ammonium acetate

¢) Ammonium chloride d) Sodium nitrate

ﬁ]é&rm@mmm@;ﬁlsﬁ lsru@efl sLSsema QuT@hSg seammer GoMN)| 6T ?
9)) UTGSSeenn GsomibGLTE) sLS&15E e oHsfsdns

3 Qeutiuflenew oifsifée sLsgidmsr 3PS5 Eng)

@) fiss6 9Hefse smyesdsar Guomsamy SIS &g

m) Geulufleney 9fafée s gsiEmsit GIRIWEINES

Which of the following statement is not correct with respect to electrolytic
conductance?

a) Conductivity increases with the decrease in Viscosity

b) Conductivity increases with increase in temperature

¢) Molar conductance of a solution decreases with increase in dilution

d) Conductance decrease with increase in temperature

Hesreu(mid 61158 6B\ alsmear QeutiL@Iwé saflwe ;_f,]urj,;_r,sms&'rﬂg FnsEummg) ?

3) Cro03 +2A1 —  AL,0; +2Cr ) ALL,O3 +2Cr—  Cr,0; + 2Al



16.

1:7.

18.

19.

20.

21.

22,

23,

24,

25;

&

@) 3TiO3 +4Al — 2Al,0; + 3Ti FF) Cr03 + 2Mn — Mn,O3 + 2Cr

Which of the following reduction is not thermodynamically feasible?
a) Cry03 +2A1 —» AlLO; +2Cr

b) AL O3 +2Cr ——» Cr,0; +2Al
¢) 3TiO; +4Al —— 2AL0; +3Ti

d) Cr;03 + 2Mn — Mn,0; + 2Cr
ugd — II/Part—11 6x2=12

gep@I> B elamEsEse olmLwelss. ol o 24 &g SIS

ellenLwisfdasayLb.

Answer any six questions. Question No. 24 is compulsory.

Gumfls gilvgens steieumy Gumye smL mTLTe 6T6LEUEY) LoTMeumLL ?

How will you convert Boric acid to boron nitride?

UlsiTer(HLD LOMDMMBISET 6TevGM) BlansslLGSHng

) Gamdsn —3—mer — . Qaméeeir—3-gsir _

i) QuetrsmsLp mOMH ——»  2-mamt jTéd Neveren 9195 gjLblsuLd.

How are the following conversions effected?

i) Hex-3-yne ———» hexan-3-one

ii) benzaldehyde ————»  2-hydroxy phenyl acetic acid.

GoudlofNensorullstr Gouseng LTHG@GID smramflsmar GHIIHS. ;

Mention the factors that affect the rate of the reaction.

QT GLOTEOTEEIT 6TEITLIENEY WIT606U ? ©_ ST EIT RIS & (.

What are harmones? Give examples |

EITLASILY (PemUlleT S58i05mE 66 Es.

Describe the underlying principle of froth floatation process

&S\ 6Y) 6HLOILIBISET ETEOTLISME LITEmE ?

What are active centers?

someuTeT—6 sTeusunyl SWMflesiubEng) ?

How nylon -6 is prepared?

\Nyrés ELoetTLIm(D) 6T6OTMM6Y 6T6oT60T ?

What is Bragg’s equation?

Netraugmid eflsmeurenius Hemmey Gls1liss

P;+ NaOH+H,O

Complete the reaction

P, + NaOH + H,O ——»
uggd — 111/ Part - III 6x3=18

geHeId Sum SOMssEEE o welbs. eflem e 33 &g sLLTWONS

aflenL_wieHESa|LD. |

Answer any six questions. Question No. 33 is compulsory.

etrougstd oy oflevisaflstn gimioiy LHNID STTSSIISMS 6198
i) smamiiGur ursumflé SLileD. i) QLTSGHT umshoLmfé: gyl



26.

27.

28.

29.

30.

31.

32.

33.

iii) smuGrmuTsroLITElS gjLfleuid

Write the structure and basicity of following oxy acids

1) hypo phosphoric acid ii) ortho phosphoric acid
1i1) pyro phosphoric acid

UMTESETML(H GDISHSLD ETETMITE) 6T6HT6nr ? 9|60 ANEHETRSET WTEmE ?
What is lanthanoide contraction? Mention its consequences.

L‘ﬂsurm@m g;|smsmrr6u& Caunissner 2 1 souf genevifembigeiflsr gmuusm.ufﬂm smflsm&u@g,g‘,]
SISDSTET ST SH6NE G115,

[Ni(NO)el*,  [NiNHa)e]™,  [Ni(H;0) ¢J**

What will be the correct order for the wave lengths of absorption in the visible region
and explain for the following

[Ni(NOy)]", [Ni(NH3)e]*', [Ni(H,0) ¢

SuellE  Gejuhseflar g refdgn sermme  sremen ? g,qu.lsuﬂfr (Beﬂrmmaamﬂmﬂ Lilg &
apaImLONDEGL gyreildssHnEh @ ulamsmr Qsm_fmu g L amariLb\SSis.

What is radius ratio in ionic solid? Tabulate the relation between radius ratio and
structural arrangement in ionic solids.

GOy euewrs — S el restr Wsraumiil,
Write note on standard hydrogen electrode (SHE).

107 M ot GrrgGmfé oflwgdsr pH semsd®es.

Calculate the pH of 10”"M HCL

GSMI0LY euemITS. i) Quarflp &L senres Gergmer. i) oumse aflener
Write short note on i) Benedict’s solution test ' ii)'Knoevenag_al réaqtioh”
\Netreu(peueTEINMDE STTEILD Sn Is. o

1) gjeuflafetr iFieb Symic eflmeré@ 2 Lubodime

ii ) T glevLblair Fifled semmih yeurmed yeuflestr semmLTE). |

iii) g|smuO\ssmareil gjisTaer 9Hs SMySHS6Teni a_ml_u_lgj

Account the following e

1) Aniline does not undergo Friedal - crafts reaction

if) Ethylamine is soluble in water whereas aniline is not
iii) Amines are more basic than amides

sflwEGeaion  (A) -CH;O, @efliy aismsug,i_tgmrraa umsnru@éﬂ,mgj GlListrL_medr
srrenflosrem®  (A) sow 9,5 Garmmid @ammm(ﬂur@ (B) wmmd (C) erei

GefuriseflsT svmaumyu Qsr@asng. A,B mg)gjw C 6O S6uoTLMIESG] G]g,rn_m_lsun._m
eflemeuTsmiL 67D,
An organic compound (A) - C;H;O; used as a sweetening agent, which on oxidation

with Fenton’s reagent gives a mixture of compounds B and C. Identlfy A, B & C. Write
Possible reactions d



UGS — IV /Part -V
SPHBTGID s)i]surrr&s@,ais@ a’ﬂmL.u.:sﬁlésessmb:

5x5=25
Answer the following questions.

=Gluwenrr erygges

&) 1) QoLfmeas S6vflLorigssir
@\revoTie smeuT GIURQES
i) HSseme SMismLLESE)n remmullsmenr el

STEOTLISmEY  Wiemey ? QoL Bomens saflodiser LI6BTL| 61T

a) i) Write the [UPAC Name for the compound Na;[Ni(EDTA)]

if) Write note on the structure of diborane
elements?

eI Liesmsiflstr oyl elemeur Elmetr Glsmaior_g eyer ?
60 6TGOTGUT ? 2 Smrevin Glsmesor(p oflen (g 5.
(Sjevevg)

ii) @\emewur(iy LomDElund ersirm

i) Q@ eflmearufsr aflsner Cousin LD Geuss wrflsSlsmi Comubsgis.
a) i) Why fluorine is more reactive than other halogens?

ii) What is linkage isomerism? Explain with example.

(OR)

) Derive integrated rate law for the first order reaction A — products,
ii) Differentiate rate of reaction and rate constant of the reaction.
) eflemerGousiombriluficr QUTGIeUTST ListaTL&eiT wWirsmeu ?
i) N@eresfwetr QusssHsir élugginu wrs ?

b)

36. a)

(Sis0evg)
1) Syeveumer Bfsme efl$lullemeor &l EmaTer CamamausmiL el SSah
ii) @enemr oy fsvgmy @ enL sTeiTmmey sTebrenr ? 2 _gnysmrid Q).
1) What are the gcneral.(’:haracteristics of catalyst?
i) What is the significance of Brownian movement?
- A (or)
i) State and derive Ostwald dilution law.

i) What are conjugate acid — base pairs? Give example.

b)



37.

38.

9) dm @M eusmirs;
i) o LeLosdT eflemeor ii ) &leflgymedlsir Bifdas alleneor
(91s0605)
o) 1) GuiemL® Hemswrtiy) — S @G ouenrs.
ii) guflufsdsaflsr  Qewdu@in eflgn wHmD UuETSETUND  TLEIS.  Ijbls
56166558 2 STT6TLD &(1H5.
a) Worite short notes on
1) Riemer-Tiemann reaction ii) dehydration of glycerol
(OR)
c) 1) Write a short note on peptide bond

ii) Write the mode of action and uses of antacids. Give an example.

g) ) o &ms. I e afll [Cl gifls allmmsrdlnsor 2 6L g

i) M, pmid M, oy @resr® 2 Carstisaflsr {1 LissarwsghssT penmGu
E°, sp =23V wbmmh E° wiom, = 0-2V. @leme [@\T6toTI VLD 6THS 6p60TMI @)(HLoLl6aT
umiiurinSlsir g usausneE Snkss) ? Ger@ssiu@ersrgl £° .., =-0.44V

(Sip0e0g)

&) C/HNO  etétrn epovdsengy eumiur@eoLiw  (A)  &iflwsGsajuon Br; wpmin KOH 2.1er
afsmerrul(h (B) sow GasrhsSngl. B- wrsrg smjsmuslicr ellsmers@ 2 L uhEmg). (B)
DL LGET I 8860 sflemenTah (& 2 I U © 6L GCar(h&SHms).
C-gierg) umpn&lGrsTasr @meaniy ailmersE 2 L ul @ (D) QerhsHng. A,B,C
LOmItd D emiu sevorLMikg) ellenearsemer 6T(LpSIS

a) 1) Give reasons : ICl is more reactive than I,.

ii) Reduction potential of two metals M; and M, are E° =-2.3 Vand

MM,

E° =02V, Predict which one is better for coating the surface of iron. Given :

E°. .. =-044V

Fe** !
(OR)
v) An organic compound (A) - C;H7NO On treatment with Br, and KOH gives an amine (B),
which gives carbylamine test. (B) upon diazotization to give(C). (C) on coupling with
p.cresol to give compound(D) . Identify A,B, C and D with necessary reaction.



wrHf eflemssnsit TV / Model question paper IV

Gusvplensy  @yessi_mb BB / Higher Secondary Second Year
Cougluwisy - Chemistry

(SYBED whpd S0P / English & Tamil Version)
grood ierey : 15 BIOLmissit + 3.00 wewf

Time Allowed : 15 minutes + 3.00 hrs www.waytosuccess.org

- oPeyIEeT 1 1. JBH  ellenssend  Fllwrs uSeurs o siren
! Q& et HYLD.

Qorshs WA GUemEsT : 70
Maximum Marks : 70
&M eisusemen  FlunToHHish

SiFsLUSelsd GoBUGLIST ooms  sevsrEMiuTenfL b
o _L QT Osfelldsea.

2. [B6ulD (S16060g)) Sl emioulenent 1L BGIw DB BHBEGID
2ECHEMYBAUSHGD  LWTILGHS CoueniiBid. LILMBsT euMIUBSDE GLeiTH
LWISTLIB & SHaLD. '

Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GUilY : Caemaunen @ G860 LLID UMIBSH FOGLTHHMEN 61(LDSHMLD.
Note : Draw diagrams and write equations wherever necessary

ugg — I/Part-1I 15x1=15§
. SImISHH sllambsEnsE@G0 ool welssan
2. QBMBssUULL s almLselsy s gHLemLw ellenLenwlsh CHiThOHBHS!
GUUWILBLs allen_ulmemnyd GFirés epaEIs. - '
Note : 1. Answer all the questions

Gmluy :

2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer
. evamlrmer CamensuBsefss Geuliuplasolissearenoulsr Ffwmer aufleng 61517

o)) HI>HBr>HCI>HF &) HF>HCI>HBr>HI
®) HCI>HF>HBr>HI #) HI>HCI>HF>HBr
The correct order of thermal stability of hydrogen halides is
a) HI>HBr>HCI>HF b) HF>HCI>HBr>HI
¢) HCI>HF>HBr>HI d) HI>HCI>HF>HBr
2. [Ni(C04)3]" - e16tim oimemeys Geimngglsd Ni-ait oienemiey erewt
St 3 ) 6 @) 4 ") 2
Co-ordination number of Ni in [Ni (C204)3]4' - 18
a)3 b) 6 c) 4 d) 2
CH
3. H3C-CH-CH-CH-CH,-OH - steiip Gsinogaain sflwren [UPAC — Guuir
Cl CH;

3l) 4-&BennBym-2,3-mLOoHHle0 GLIsHL &i-1-2460
Q) 2,3-e0LGog&He0-4-@&BGemGym  GlLieiL 681-1-2460
@) 2,3,4- enyOLogslev-4-&BenmCym  Liugl L 6ir-1-2460
F)  4-&CemmBym-2,3,4-LenyOnd e G 6i-1- 2460



The correct [UPAC name of the compound ,
CH,
H3C-('IJH—CH-(|3H-CH2-OH
Cl CH3;

a) 4-Chloro-2,3-di methylpentan-1-01 b) 2,3-di methyl-4-chloropentan-1-01
¢) 2,3,4- tri methyl-4-chlorobutan-1-o1 d) 4-chloro-2,3,4-tri me'thyl pentan-I-ol

. 2H;0; — 2H,0+0; aeip eflenanulsd 9@ @iiiiL Gprsse, Bl ssbe 484 O,
2_meurdmg eaflsd SiEES CEIsHn B o HamGh Gausb (Bured BOLLT eudsb)
) 1 o) 2 @) 3 ) 4 .
During the decomposition of H,0, (2H,0; — 2H;0 + O3). 48g of O, is formed per
Minute at particular instant. The rate of formation of water at this instant in mol min™ is
a)l b) 2 c)3 d) 4

SungBL omflefbETen  auenFUIEHBUITEINSI

9) @@ TSI ITeT QUBNmEEGSL WD

Q) 6.22%10" erevadLyreiissit QUBPmBSD LsigHemLD |

@) @ Gworsd Gsmogsmam LQUWFQFLIL Csmeurer LO6TEEmL

F) @ Gmed e6usLgTaii®EsT QUBNIHEEGID WaFHmL

Faradays Constant is defined as

a) Charge carried by one electron

b) Charge carried by 6.22x10' electrons

c) Charge required to deposit one mole of substance
d) Charge carried by one mole of electrons.

. Na* swefl wppw CI swelssis owed .a;,gr_r;lessﬁ_-'@psmm(?u_l 95 pm Logbmub 181pm.

siaflsd Na™ ouweflulsr oemewe) etewmt

o) 4 ) 6 ®) 8 e B3
The radius of Na* ion is 95pm and CI' ion 181 pm. The co-ordination number of Na* is
a) 4 b) 6 c) 8 i
. GpusTTUmeaTsd CFHTEGUUBEG 2 LuG Gsirnowb '
- CH;
o)) C¢HsCHO : 21) CH3-C-NO;
~ CHs .
@) CsHsCH2NO, F) Qe DIMIHHID
Nef carbonyl synthesis given by
v . CHs -
a) CgHsCHO b) CH;3-(-NO;
- CH;
c) C¢HsCH2NO, d) All of these

deireumd 61bs oweflullesr 2 (L) Ceuewiientd BB WGHI?

) Cd2+ c$) Cu2+ @) C03+ o : %) V3+

Which of the following ions of salt is white in colour? | _
a) Ccd* b) Cu** ¢) Co* . e d v**



10.

11.

12,

13.

14.

siauGeITBIIE) a5 aFMATHPOLEIL L Fmpioin?

o) aiflefls sevenu = r
@) asBuwrE s s =) Ouirfls anl jréme 6
F) &I FILBISH6T

Which one of the following is negatively charged colloid?
a) arsenic sulphide '

b) Ferric hydroxi
¢) Haemoglobin ) ydroxide

d) Basic dyes

D@l LT SIFILLIOTed WwBEID uerdolifleln sfueme sHeurgesas

'5".95“‘0.: P ‘9“5_51'—‘—}'3”5‘) wBOID Heolflelr Qadlwemar Mol BHIIDL HILVGMS HTHE]
s GUBGSSULLL  BEID el QFwsiwenpulsd o emiiell|pddd6iF i sime.

3l) &ﬂ?ﬂﬂ '-Dii?mllj? SNIewD @remiB Ff sryemd sapmisbsten Fiwrer cflsToaOTELD.

<) S ! LBDID STTewid SQyewiB #f @ryewid sapmibsten Fiwrer alenobaLo6060

@) sbml &Fil UMTEL HMFWID Houml

F) SaB@l WLBEZID SMFewid QIGD SHeuml.

Assertion : Paracetamol and aspirin are both antipyretics.

Reason : Both paracetamol and aspirin are controlled and reversible loss of concionsness by
affecting central nervous system

a) Both assertion and reason are true and Reason is correct explanation 'for_' Assertion

b) Both assertion and reason are true and Reason is not correct explanat'_ion' for Assertion
c) Assertion is tue but reason is false. o oz ®

d) Both Assertion and Reason are false.

Qauliu Budsalwsouy Sigs Bleneol SHefemi QBmemiL.  eiLieflenr um@snm@rsmw QIIgaILD

3 emeurLd oY) . .LeoeuTeaEe @) . .Slymenu F) r,r;q(%_@rrr _@,‘_@qunassﬁ
Thermodymanically the most stable allotropic form of carbon is g+ g
a) Diamond 'b) Fullerenes c) graphite d) Nano fubes
&6l CETBHSULL NEIBEHET HS Gl ROEBBTE FNHBM]?

3l) GEHHEHTETD o) &HEITL @) 1omeL6L TN ) mn&_,@.,_.r_,_m_
Which 'oné given below is a non reducing sugar?

a) glucose b) sucrose c) maltose d) lactose. ..
et eumeuaaubed a1l -FiuTs QUIT[HHSHIEVEMEL.

Si) LTeelr &y .. AgNOj; + NH4OH |

o) Queelm HMIFE - CuSO4 + GyreFsBe0 2L

@) Ousfigs Segasd - CuSO4 + Gamguid ALGy +NaOH

F) Guuwiflslr smyemil . oLt HCl+ prms ZnCl,

Which one of the following is incorrectly matched?

a) Tollen’s Reagent < 'AgNO; + NHOH

b) Fehlings solution - . CuSO4+ Rochelle salt

c¢) Benedict’s solution -  CuSOj4+ Sodium citrate + NaOH

d) Baeyer’s Reagent - 1, Con HCl + anhydrous ZnCl,

Qo obs FOMUG S1BI CaBEsLnBe weopulsd SLIssILGSDSI? -

o) SITORgeienL L o) HECET @) sriui UL ) erGiusuemrL



15.

16.

17.

19.

20.

21,

22.

23.

24.

 @eLBPanevd SHafllomiss orguED AHFBams Mensvenwt QuBMmHLILGH6N?

Sulphide ores of metals are usually concentrated by froath floatation process. Which one of the | |
following sulphide ore offers an exception and is concentrated by chemical leaching. |

a) Argentite b) galena c) Copper pyrites  d) Sphalerite

Ag(CrO,) aieip BgFmodalen aenyamei OumssHBHMEWw (Ksp) Guomrsomi BN HBEUBE LD |
(S) @ew_Cuiwmenr QLT §

) KS}FS3 ) l{sp=S2 @) Ksp=453 FF) Ksp=3S2
The relationship between the solubility product (Ksp) and molar solubility (S) for Ag, (CrOy)

a) Ksp=S’ b) Ksp=S* ¢) Ksp=4S’ d) Ksp=3S? !

uggd — I/ Part—1II 6x2=]
ges@Ib Qm elamssErdse olmLweiss. olam oo 24 &@ SL LIS
allenLwiefléEa)Lb. ,
Answer any six questions. Question No. 24 is compulsory.
umeoLTEs BLTeY emiBLFagsl QUEILT Gamsmeo@mansT D (HEUTEHEEUS606mED 66517
Nitrogen does not form any penta halides like phosphorus. why?

Why transition elements shows variablc Oxidation state?

[CO(NH3)501]SO4 wpgd  [CoCNH3):804]Cl-gg CaupusHupun  @m  Barsmenmw
T(IDSHIS.
Give one test to differentiate [Co(NH;)sC1]SO4 and [Co(NH3)sSO4]Cl

Ourg el ailenene) sepTsd clsTN? QM 2 HTFERID Csr®h
What is common ion effect? Give an example

Bl STVSHDG STIUT  FOBUL DL Bmbus . seveafisd Crlldm emeudss  @uwisyion?
(A3 (GF: 3 TWTH M ) :

E® =0.34V wpgo E°_,, = =-0.44V

cittc, e /F,

[s it possible to store copper sulphate in an iron vessel for a long time?
Given E° e 0.34V and E°, =-0.44V

+”—

LEReiw euend allenanuisr Sienampe STeusms HMHDH BHBH
Calculate the half-life period of zero order reaction.

L 6I5F0 FHMed L6 Breiiaene gnmie.

Give four uses of diethyl ether.

Sevafleflen el LT ouwef (@mpsnan Suwel) SenwlienL H([H.
Write the Zwitter ion structure of alanine.

26016 LSS OLUMTHL &6 sTaiiena  WiTens?
What are food preservatives?



20.

29,

"ad
[

fad
fad

U@ -~ 1/ Part - 1] 6x3=I8
gBHEMD WM ANATEDEMHE AN WLisT s,

. . MIGTT sI6% 33 &g, SULTULNS
alenLWalldbHa)b.

ANSwer any six questions. Question No. 33 s ¢
6)]'53]\[.]13'3)83

umpulun Ve

(1) UmMIHHED (1) HTDTDOT @Rt padst  sumyd .
Define the following terms

(1) Roasting (1) Calcination

g Grl GHTHHHN (Wsnmsmu Lmas FoiGsig sngs
Write a note on Fisher Tropsch svathesis

[Ti(H:0)]" -5 apsviingy ayemmso [sc_[H,o)ﬁ]J+

g

- BDMEHI ek,
[Ti(H20)6]" -is coloured while [Sc(H-0)q*

s colourless. Explain
SUTBIBHEY  GHMPBUTLIQENST  6lil5T18 5.

Explain Frenkel defect.

GansiGamTlat Well EILeL DiGdha sepTst siasten?

What do you mean by Helmholtz electrical double layer?

allsns CaNdbHE 6l HTOTET HEHID Ly SISIUSNST D_&T]aMHHI_6T  cllandb .
Explain the rate determining step with an example.

-G53 s0GDMEHF6I-2- 250 AT SHTHNTIH  STTam LL]IrSL":@[[)B’)i gurfliumi?
How will vou prepare 2-methyl hexan-2-ol form grignard reagent?

GBIy MIEDTH: 61LATL  llsns.
Write note on Etard reaction.

CNCl sspue smur@sow BfwdGainod  (A)  GwHsHso  Gedsidiub  yGITerndL i

Mavam Tz Gamon B — (C2l:N) msb HHHDH. B-2usns alapaiGais ornPuTed QBT
wsrLbm Gomoe C — (C3H-N) ms5 smsH Dol C-mprranuaofis ol spsnds@ oL UGkl

seflsy Qoo AL B wopmih C-mwd Semil gl alspsusman sKphHis

An Organic compound (A) — CNCI react with methyl magnesium Bromide to give comipound
— (C3HaN). B-upon catalytic reduction to give compound C - (C;H-N). C gives carbylamine

test. Identify compound A. B and C and write the reactions.

ugd -1V /7 Part- Al : 5%5=25
BDSETEPID NGB EHEHS allsnLwafdbdHa|b:
Answer the following questions.,
DI) KON 60T U B SHEMATIULD S ENTIIHSHMNUND UGS
(.50 H1)
) 1) Fryadest Lweiidsi GRIssigsnan @il bheb.
1) Gty OBmILD ST @ Ui doatl 1Tl E @uomsli Tl el WiTd)?
a) Comparc lanthanoids and Actionouds.,
(OR)
a) i) Mention any two uses of Zinc
. - & . : o : : —_ )
i) What is the reaction of Ammonia with Iron and copper salts”



36.

37

) GUICLTOY LgsTh asisumy) SWMSSILGADE
(:916050@1)
) 1) Quipllwed Ly BUTEH, CouBuiwsd ugiy saurdd CapLGHss
i) Qprs) allenanBeous ITBBSHBE BH 2 STy Hms
a) 1) What are inert and labile complexes? | .
i) How is potash Alum prepared? |
(OR) .
a) 1) Differentiate physisorption and chemisorption.
ii) Give two examples for enzyme cata1y51s ,
S) 1) Bluno BLEBISMT  oBEGID  GLomeoT - esl_g,@@g)smﬂ G]JGU)UUJQJ&'&; SIeNEN  6I6UAITY
O&BTLITL QsmewiGsitemen? " :
i) sreveuteflas Lsimeomismssn Luquurrm)gf,glsm LII'E:]@ eTed160T ?
(S1606051)
<) 1) owelligshiseia LsHLSsT Wreneu?
i) gorul oufevary GsmsiiensemniL umml” @mily  susn)s.
a) 1) Define molar conductance and specific conductance How they are related’?
i1) What is the role of salt brldge in Galvamc cell? o
™ “(OR) -
b) 1) What are the characteristics of Ionic solids? -
ii) Write note on Lewis concepts of Acids and Bases.
) 1) eaHHameveang Sibev elenenGsus B (peiraiensouilsd Bramm sﬂea)svr&,@ 2 _Lul®
FSHSHM  H(HLD sleneanulein ellsneor m@@@mmm TSI,
1) dereu@md efleneuisd eflener QuTmsT X wBpID A-6dW HewiLs.
. CH3MgBr . = suflev
SFLLD &Canmengp —» X —>A

- H;0" K,Cr,04
(2150005
<) 1) QedPULTSHBIB6T LDHJLDILD SGemmenTT  LrsRisEhse @l Guuwrer  CaupLTGaEsT
wimemeu ? '
i) mbSHTHS 66 euemIm. D& WGBHT UTHISTIY  SHEHeHIoU6l  6TelsuTml
OFHTLTHUGHSULIBSIBSHI? =

a) 1) Write the mechanism of acid catalysed dehydration of ethanol to gwe ethane.

i1) What will be the product (X and A) for the following reaction? |

CH3;MgBr acidic

Acetyl chloride — X > A
H30 KzCI‘gO'}

(OR)

a) 1) What is the difference between fibrous protein and globular protein?
ii) Define the term therapeutic index. How is it related to the safety of the drug?




38. o) 1) A,Bwﬁjg:ub C-pwi ®sewi_pfas
HO . " OH |
W SOCl;, A __NH:, p LiAlH,
.o ! (o

1) cg)h‘ﬂl_(BL_FTGHT DUBMFML  RTUEHBIT QUITdhS {-}IEﬂng&B ilevd QETent(H
ag,,&aﬂgg(‘émmmw QFLHTE sT6iten BB pD?
| ( DAV
&) i) 25°C-s0 avemaileur BrhsHatew Guoteut 5;?8,5@@@61 wHyssTed BHbE AL
aufleogsen A "CH3COOH- - HWHDHHS

lﬂﬁmu@iﬁl NaCl HC] CH3COONa
oy
(S em?mol™ | 1265 | 4262 91.0
ii) &fwsGsfio C,HO (A) — Lreveited opmte Guedn  senjssd CFTHMNBE

2 LuBHmE? Bsmow (A) Gussamed wppb HCle Lear silemar yfibg Gsmow (B)
CiHiO: - @Az Csiob (A) Oussmid Bibs NaOH psiisflensouilsd
ai_smsmurﬂrj,@ Bgmwod (C) — C3HO, —weu Qerhedmg. seflsd Gsmomsst A, B
wigD C-emw s fibs efmansmsn spSHIE.

a) i) Identity A, BandC
HO a0

SOCL,, o _NHi, g LiAlHs

11) What happens whcn acetoneoxime on oxidation with triflouroperoxy acetic acid?
: (OR)
a) 1). Calculate v Al CH;;COOH usmg approprlate molar conductance of the electrolytes
listed below at infinite dilution at 25%
Electrolyte | NaCl _ | HCl . | CH;COONa
AO P : ;
(S cm’ mol )
ii) An Organic Compound (A)- CzH.;O reduces Tollen’s and fehling’s solution. A-react
with methanol and HCI to give compound (B) — C4H190. A-on reaction with Methanal
in the presence of dilute NaOH to give compound (C) — C3HgO,. Identify Compounds
A, B and C with necessary reactions.

1265 426.2 910"'
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Bl eflemrgssrer 'V / Model question paper V

Grosbrslemey @ rewr_mb ewi® / Higher Secondary Second Year
Gouglulwsd - Chemistry
. (QWEFleod oppd Hop / English & Tamil Version)
&MV ieme] : 15 P missit + 3.00 wenf) Oords  WHUGLeTTIEST : 7

| Time Allowed : 15 minutes + 3.00 hrs Maximum Marks : 70
ANTHDYSET : 1. Dismangg alamdsend sfursl uHond o sensr asusman sNuTT&HSHIE
GEBMeNeMA)LD. oFsLUSellsd  GopWGlls omps  seHsTeNiuTeTfLD
2 _Leangunssd gfafledaan)b.
2. e (2160605]) &L emLou lement oL BGw 61(LDHINSHMELD
SlR&BBHTYBASBGL LLELRSS GouemBld. UL RS 6IDIISBE GUeds
LWeTUB SHSHaLD.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor immediately. - '
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GBIuY : CHemeulLien @Lg}@sﬁ ULLD euenyhal &ms&lurr(Bsmsn 'a@g_ﬁsum.
Note : Draw diagrams and write equations wherever necessary
u@®d — 1/Part—1I o 15x1=15
GEUY : 1. SimeNHH elainsEsEnsEh allenl Wweldsab - o
2. QeTEssLUILLL BT aloLsalsd Waa ghymLw almLamwsd CHThosBHE
GPUT GLer sllenLullenanyd BaTHal 611RHIS.
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer '

. Gar@ssiul L elanerulsd [Y] ereiLig

H,SO04 - (1) NaOH 2_p@ss0
CHsOH — [X] » [Y],
110°C (LP&H6ITEMLD (i1) H
allemenGILITHET

OH OH OH OH
- SOH ; : OH :
1) a0 | ) FF) |
SOH H ;
In the given equation
H,SOq4 (i) NaOH fusion

CHOH ——k  [X] > [Y]is
110°C  Major Product (i) H

OH OH

OH OH
S0H . OH
a) @ b [ ) @ % C'/
SO;H H



2. Uehieud ellnsuseflsd e1slsd Lsur siey
o) Basmsoll ellemenr
&) SBOLTEY &mIbHLID
In which of the following reacti
a) Kolbe’s reaction

- SMTU6T enenr) 0
) 2 60, Ldedat eflene _l-l 2_(hHeutseailevensy’

) UfLed &gm' . efenen

10ns new carbon — carbon bond is not ?
. b) Wolf kishner reduction o
c) Aldol condensation d) Friedel craft reaction

3. e Camomiseailsd ebs eiim suedenio WSHs Sryn?

H, H,
) Y
CH, W NH, 2 . FF)

0,
Which one of the following compound is a strong base?

KN H 5 NH, NH,
) AN
b) c) @ d) @

CH3 NH, OCH, 0,

4. @mpm : DNA wevssmpfes osfier Genem, @memsmsm o _|ayith
GOUTENEE 2_L_eDILD S ememTb 66Nl
STYERILD
SIMDBH B

mal Qe - @smemi

Qe &1 GpsErdamLGul o e Gm@gl_gggsm UepsmiiL| - &ysmionss

Sl) GBDl LB S  Ged@l  &f  Goewd  sryewD, -dapfiberar  sflwmen

NeN&SHLOTGLD.

oi) SMOm  BDID  SMYewID @Um(ﬁw &, cg,ﬁtrlrrsu BN  Fnmplimeren  giflwmen

)l6T & &L0606V.
B®) mpm F UEITEL BTFEUID Houml.
F) SmBpl WBOID STyewid @reniBl Heuml.

Assertion : Thymine pairs with Adenine wheareas Cytosine pairs with Guanine in DNA

molecule.
Reason : The hydrogcn bondmg between bases of two strands is highly specific.

a) Both assertion and reason are true and reason is the correct explanation of assertion.

b) Both assertion and reason are true but reason is not the correct explanation of assertion.
c) Assertion is true and reason is false.

d) Both assertion and reason are false.

5. Ueiioumeueneubmiell 61hPH Q6B LOBGLD uauuu; :
3l) PGA 2Y)  MBEVTEI-6 @) PVC #) HDPE

Which one of the following is a bio-degradable polymer?
a) PGA b) Nylon-6 .¢)PVC d) HDPE

6. 200K-s0 gm ofemenule elamenGeus wrleduisr WHOLTWIS, 400 K-6b 2 _siten  aflsmsoi@euds
orfedullsn wAleL el 10 WLBG &oDal, el oibs sflenenullen  Senite  pDHL

@iy eeiren? (R= eumu| Lompiled)
3l) 1842.4R Q) 921, 2R @) 460.6R - F) 230.3R

The rate constant of a reaction at temperature 200K is 10 times less than the rate constant at

400K. What is the activation energy of the reaction? (R=gas constant)
a) 1842.4R b) 921.2R c) 460.6R d) 230.3R

7. Usiisumeusmoubmishn  HILOEVSHBMIFDIBE gflwnengl 61gl? — i )
2) [H;0"]>[OH] <) [H:O']1<[OH] &) [H30] [OH] ® [Hs0']<[OH]



10.

11.

12

13.

Which of the following is true for acidic solutions? - o '
a) [H;0]>[OH] ©b) [H;0]<[OH] ¢ [HJO]—[OH] d) [H30]<[OH]
BuBemasulsy eurald Beowrs BEUUSDES. STJemiD Lo _
3N) amPSHIEBHes WepenaNd SuTFd - R :

o) UGreneflwen allsnstey ! By

@) ewiLmed ellensa)

F) UTeOLFFenSHe)

The blue colour of the sky in nature is due to

a) Electrophoresis of sol particles

b) Brownian movement

¢) Tyndall effect

d) Deemulsification

o BeuTd (GHEMDUETEN @smmurr@ esrrsmﬂuu@w L&D
&) NaCl &) KClI @) ZnO

7) FeO

The crystal with a metal deficiency defectis =~ =~ = o
' 9 zn0  d) FeO

a) NaCl b) KCI
LeiteumeusieubmIeh 61g1 SHienemt Lﬂsﬁms\i‘o
o)) BeudeuTEh8F LTS 6V6 |

&) SHHWID - Sl LIS]GUI@EL[S]LJM&:SBGUGW
@) utsys Ul Len 0Bl sbesvaT

®) (@) b (@) Sreen ofl.

Which of the following is Secondary Cell? _
a) Laclanche cell | b) Lithium ion battery

¢) Mercury button cell ~d) both (a) and (c) |
BTG OIBHSBHS BOLBMVS g;aaﬂwrﬁlasaﬂam (Cr, Mn, Fe & Co) +2 a{,&&é]g@smg}g}

Blemsouiledr BleneoLILIS SHEIEMLD auflens [oigmustent: Cr (24), Mn (05), Fe(f:(,) LDDJQ‘.HID Co (27)]
o) Fe>Mn>Co>Cr 21) CO>Mn>Fe>Cr 5 :

@) Cr>Mn>Co>Fe ) Mn>Fe>Cr>Co _
For the four successive transition elements (Cr,Mn, Fe & Co) the stablhty of +2 0x1dat10n state

will be there in which of the following order? _
a) Fe>Mn>Co>Cr b) Co>Mn>Fe>Cr c¢) Cr>Mn>Co>Fe dj . 'Mn>Fe>Cr>Co

ljsmen@sumsum@m 61 LTI SMhHS HEenD @umgjjsnsngu? !
) [Zn (NH3)]** <) [CO (NH3)]™" @) [Nl (H20)6]2+ ®).[Ni (CN)aI”

Which of the following paramagnetic in nature? - o it o
a) [Zn (NH;)s]** b) [CO (NH3)]**  ¢) [Ni (-HZO)(,]?. ©d) [Ni(CN)*

deiisuapdo HzBO3 upmlw snbmiseflsd Heumpmeng stgy?

o) B& @0 welmw 10g WeaTrsmHen dfsod : :

) % Guryrseien BiésmIFmsy HOsOLILGHS _f_f,u_irrrﬂesauu@é]m@

@) Ba BO; owvesst snaml rea Lensutidanmso LeneutésesliLi B @4@5@
DIMILENLIS  ClBTa BaiTeTgI.

F) @& LEITLLTma eupmIGaSBE ug,%urr&. ezs)@u_grrasmﬁlsu .g;u_lsuﬂsmu.l gbpis  CsreRiB
gorull suflsvloras G}&msou@aﬂm@ -



14,

15,

16.

17.

18.

Which of the following statement about H3BO; is not correct?
a) It is a strong tribasic acid
b) It is prepared by acidifying an aqueous solution of borax.

c) It is a layer structure in which planer BOj; units are joined by hydrogen bonds.
d) It does not act as proton donor but acts as a Lewis acid by accepting hydroxyl ion.

esudsueneuBmist Cayed onfevd e1g?

o) Hp S20s Q) H; S; O ®) H,S0s5 ) HySO;
Which of the following is caro’s acid? |

a) Hz S;0s b) H; S, 07 c) H;SOs  d) H;SO;

SIUMLWTSGHSMN GUULIGL eflsnamnureg) 61b& (Lpenm?

Ti (grueswwbng) + 21, 550K, Til, 1800K, Ti (gmuw) + 21,
) ULWOBH6L &) emILey &SH iy

@) eumelr - SyfTEEOLPMD Iw)'rllwnsﬁi@smgj 5

Which method of purification represented' by the equation?

Ti (impure) + 21 550K, Til, 1800K Ti (Pure)+ 2L,

a) Cupellation b) Zone refining
c¢) Van - Arkel method d) Mond’s process.
ug® — II/Part—IL ~ 6x2=12

g8s@Ib m elemEsEnsEE almLwualss. elam o 24 $@& SLLTLIONS
sl We & HBaLD. o R

Answer any six questions. Question No. 24 is compulsorjr.

BTEUTWE FLOBIEN6Y 6IGHIMTE0 616360 7

What is water gas equilibrium?

@Bamen (03) @ 6UeEmLOULITE a;,&eﬂg(%smm@w &.rrustmﬂmrr@m sjam‘?

Ozone (O3) act as a powerful oxidizing agent why?

Leiteumid ellenensenen LTHS Ceuis.

i) 2MnO, +4KOH+O, —»

i) Cr, O + 14HT + 6 —

19,

20.

21.

22.

Complete the following reactions.

" i) 2MnO, + 4KOH+0, —>

ii) Cry O + 1449+ 617 —>
Bisr SIWeAlGUmHESD auenTWDI
Define ionic product of water.

MABLIERET FLMUB uTLmel UTFMS  UBMVE  HMIFO  eufluires QFaSHHIDCLITE

gistien BHlag? Geudl (emmulenr Guwiflensnr GUILLGES.

What happens when hydrogen sulphide gas is passed through a solution of arsenic oxide?

Name the chemical method.

Lyshiseisn @uisolliphsHsd LBl GBIl Guen)e.
Write a note on denaturation of proteins.

QLfeSer ereueurm SHUWMTSSULGEADBS?

How is terylene prepared?
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i I W e e ! i : )
‘ L W hat s the stope of the capve?
l—>

Mshsuie - Gainoisandag, IUPAC Guiisbsnal S, |

(1) CeHs-O-CHy-CH-CHy - (it) CHy =CH-CH>-CH,OH
BER

(111) BCwWI  Glisdlent_su DAL (1IV) Bavil st

Write the TUPAC name of the following compounds,

(1) CoHs-0-Cl I;~IL'I [-CHa (1) CHy =CH-CH>-C'H,OH
CH;
(111) Neopentyl aleohol tvy Glveerol

M3o Gamlaon i suslanic HMBBH D HBNIHBHIR  Dle0bbangaallsit  FILNBL BHBIHS Bs)
wHUY 6 Gur Guad sorend T whmin  @wmalsvsor BrHeanbd 400 Guwn.Ga1d” Fwismp
2B, Bbp AMONHH B Gfens widad 0HUMHL BenibadBs.

The equivalent conductance of M/36 solution of'a Weak monobasic acid is 6 mho cm_2 equiv
and at infinne dilution is 400mho ¢m” cqui\"] _Calculate the dissociation constant of this acid.

ug®H — 1/ -Part =111 faesl 6x3=18§
JEHMID Up elembeenhse alolwsias. sl s 33 &@ SLLILULTS
silenLwelléaejid. |
Answer any six questions. Question No, 33 is compulsory.
BurBrl  aywusisnul ssusummy SMILBouTl? HFHs0 2 _aiten allanaidaan 110 His.
How will you identify borate radical? Write the reactions involved.
oL Honevds SHallohiEaT 1oBmID 'g@mm GO BaT A e SBBMNTS GClFWsOLIBF sen
gaul? , : : '
Why do transition elements and its compounds act as catalyst?
O.IM HF aoygsd aalamw @aop ondsolb 2pams0 SM, HF sajssd sualenio 10 anfsor
sJai’? T _
O.1M Solution of HF is weak acid. But 5M solution of HF is stronger acid. Why?
Walyamew  saagpe (FCC)  asnwoismu . UM HI, _:asﬁauau@cﬁaa@gw ST LILIBIE
UMD 5103016000 hoMeEbaniLl  HENTBBIF. |
Sketeh Face Centred cubic unit cell (FCC) and caleulate the number of atoms present in it.
2_WTHH ball 10BGHD alloneBsusenBn B STEIGITSY  sTadiaar’?
What are promoters and catalviic poison?
A — B s Gutsisuten AMonoddydy  A-od GJ;@@;&'@L‘D GBI HAMEG LD @@)L;.G-Lu,u.mr

UNJULID  BB1g Gl THebDHIILIL Histian ). SUSNTUL Hodéhy  DIUILSHLWLITSHD BEIENI0) U oSt
M drdy <_)_T_b-:jj 45 sl oNL ™.

(1) oo tTodt slansdsuands sladleo?
(1) auadaBBm 19sil Jmiliey s1ehian?

(i) aflsnsiGonds  wnnjladudsi DI slevie’?
| —» : '
For the general reaction A —— B. Plor of coneentr

ton of' A Vs time is given in the graph
below. Answer the Tollowing questions on the |

asts of this graph,

() What is the order of the reaction?

(n1) What is the unit of rate constant?
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CHiNO; tﬂlITU‘_ILIIITI'_lg"rj}@ B i :
CaunLBGHSHIuTL? TBHWMISST  »_sisma,

There are two isomers with the formula CH;N |
ula CH3NO, H :
3NOx How will you distinguish be hem?
: ) guish between them?

Asuslgaiienud  6T6ueUTDI

ST SHETE0  IDBHILD Usnnebmanan GG DD Co Bemenssi 2
What are the tests to differentiate cthanol and Ilih‘.‘lm]\" e R

A aaid  sfwd  Boond  (CiHsBY  m moer wasfles ' '
alaneILBHHIDCUTSI Gufon () a?ml_si,u:‘;]'DbT By Batiu o |@UC' T N{l‘g g
lsulILUBHHDCUIGHI Cainpid ((] S Edimgy sl (A,)rb'};)f .._03. ﬂf,l_w ’mJIGG)Sfﬂu(Bd%';_&;]
slanibeNa  51(LHHIS. , (B) wispn (C) 6 sHemLMibs

An organic Compound C3HsBr (A) on treatment with Mg in dry ether gives (B) which on
treatment with CO; followed by acidification gives (C). Identify (A). (B) & (C) and writ
possible equations, 4 ) ) and write

ugs -1V / Part-1V Lot X5=
5=25
SpSGTEID ST EhEES G)ﬂGU)I_UJGIﬂ&&}GulD ' i
Answer the following questions.
a) 1) fml_ﬁ MUMTL a0 BTLILIGHT L?ff@@@@é@tb' (PPN L 515‘51155@
il) fevousmy LOlsdtei Ju@ggg;m (EDINEN @nma)muﬂas&smm sl surl.
. . a . 3 (a‘lauao@]) |
b) '1-) 24D, NBUTELBET S1ImTsy staiian ) 2_sHryaniid  ClaTh:
i) Usiaumo Camotusailsd sisusisamns @mes&;anuu ,r_rga*nLGug;ucﬁmg;j
=) Brks A,) IF, :
a) i) Explain extraction of copper from coppu pymeb

i) Explain electrolytic refining of silver.
L (OR) A

a) i) What are amphiboles? Give cxample. LGy i)
ii) What type of hybridization occurs in the followmﬁ compounda

a) Brks b) IF, : :

a) 1) Cr’™  susSsyowimad G)@EEI&)LUFT&: .g_anuu@ung;j Mn** aua%mmmﬁsm
o sheng ejenr? alland@.

SOLD Lompsiavl aomugﬂ wingl? c};c;,am @&,mnuzngﬁni SIIDEIS.

_ f\-:)IG\Jng;j] :

b)i) @  alensiuils SIEDJEUTIPESTAOD  GuHTLIBI. (pFHavausnsd oMUl SIENTEUTLD
SHITEOLDTAI S allenauib GILIT paTTlEor @sn&,&,& (aacjlamaju GUITMHHH axammsngm@m
SN &H ST BHH. -

i) 2 e ﬁqnmu@f_f,,&;a} Ul B pieus ersiia?
a) 1) Explam why CcriTis 51[0[1“]\’]-..C[LIL!11“ while Mn*™is strongly oxidizing?

ii) What is stability constant? Mention its significance.
(OR)

action. Show Ih'n for a first 01du re

2p5FCammiwures

) BlansVLIL|HEH

b) i) Define half life period of re action half life period is
independent of initial concentration.

ii) What do you mean by salt hydrolysis?

(SHE) umn u)ruluu N Jb.

1) Wsu@eld  BLé haylHBHmedt anamﬂ’ﬁ;jcu so DC FlenGaTl LS H B uBooreds  AC
O gr@samLLD LWSILBHHULBSEBE o)t !

( D1605VH)



b) i) Weipenans seurddl LpH GIILLY - suemye.
ii) CurleySH e eTeiimTed 6T6iTEN? Bl
a) i) Write a note on standard hydrogen ei.ectrode (SHE)‘Z
11) Why is AC current used instead of DC 'in measuring the electrolytic conductance?
(OR) ‘ '

a) i) Write a note on electrophoresis.
ii) What is packing efficiency?
37. ) 1) wenselar  waopme, @reiLmbfme wHpb  wamTOHme  oEoiy LS

a6 & b.
i) Ueliumld w1Bpb asianm HepssiuGangs? Cansab -4- FeTnBL Neo—p Gamded -
4- Fweuren,
(Di6L6VGI) o |
b) i) Gamuyssir OBOID 191 TO\ewIL Haser e W5 BEGWL CFwsouTLIge aufl(enseniu
a6 & %.

ii) Ueieu@mid omBprissi 6T6NEUTMI & |DSHSHLILIGEmEHI?
X) Ouenider —p 1AL GL." .LICsmTsH
(Y) Quensnshigan@ —> OABLCIT GuesTFmL®
a) i) Explain primary, secondary and tertiary structure of proteins.
ii) How is the following conversion affected?
hex — 4 — enitrile—» hex — 4 — enal
©OR)
a) i) Explain the mechanism of cleaning action of soaps and detergents.
i) How are the following conversions effected?

(X) Benzene—» acetophenone
(Y) Benzaldehyde —» hydrobenzamide.

38.2) ) HCN-sir Ka wgiy 107 sefist’ 0.4M HCN sengsaden pH I eT6ien?
(2i606031) £

b) 1) @@yrBul s epl Brr  Gsmwd (A) So/HCL o 1 e PbsswmLHH  Bsiwod  (B)
CeHIN  mé Oar@sdmg.  Gsmon (B)  Quesigmulsy GBsmenyBLer  Lfigsh
Weiiafiamevuisd  eflmeaiuBss Bsimwow  (C) gpé CarGsadng. Gsiow  (B) US|
CH3Br e e elwaniu@ss Gaimow (D) sy-uyb, AFmAS GBHTLiHs NaNO,/HCl
2 Let  elwaIuBsHS  10EhFHT  BBUPEILW  sTemGsmric] GumelB:  FreupsnLw
Gamob (E) ;s OCarhéEsms  seflsd (A) wssd (E) UMY  o_6i6m  B&EToMISETS
SWILBbg ellensnsemen 61(1HHIs.

a) 1) The Ka value of HCN is 10”. What is the pH of 0.4M HCN solution?

- (OR)

b) An. aromatic nitro compound (A) on reduction with Sn/HCl gives compound (B) CgH3N,
which on treatment with Benzoyl chloride in the presence of pyridine to give compound (C).

Compound (B) on treatment with CH;Br ‘to give compound (D) which further reacts with

NaN O2/HCl to give compound (E) with yellow oil liquid. Identify (A) to (E) and write the
reactions. "
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wrgfl elemssnrenr VI/ Model question paper VI
Guebplensy @yewiLmd uewi® / Higher Secondary Second Year
Gaugllufwied . ~.Chemistry
(qyEdleod wppid WP / English & Tamil Version)
groold ey ¢ 15 [BIALmissir +3.00 wenf Qurgs wPuGueiassT : 70
Time Allowed : 15 minutes +3.00 hrs Maximum Marks : 70
ofeEyEsT : 1. DDMSHI alemesseEnd Filursl udeurdl o _siengT  616ILISHNE gL BHie
Qareiena)Lb. oEsiLSalsd  GopUeils omps  sanstefiuursfilb

o Leagunes Oxfalbsalb.
2. el (Siveog) SHUY mwulmean LG aWsNSIED SigsBETIEMISDGL
LWETLGSS CousmBl. LLRS auamyasneE Cusids LWELGSHSID.
Instructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness.
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to draw diagrams.
GHUY : Caemeuwirenr @LH&H60 UL eusnfbhdl FLETLTHGEHEET 6T(LDHRLD.
Note : Draw diagrams and write equations wherever necessary
ug® — I/Part—I : 15x1=15
GO : 1. Svaibd elameseEposEh el weisasab | |
2. G@erHésuurL UG allemL 6160 LO&6)LD gJMBLEHL LI RPN LMD
CohosGHH GBUILGLE allenL ullsmerub Celiddml 61 (RHIH. :
Note : 1. Answer all the questions
2 Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

1. UeiaumsueeuBmieit 6151 HoUBTE B’
o) La(OH); sieigl Lu(OH), ma® &arn_u;@]m (GEDDEUTET SMTHSHEEND ML WIS
&) eonpGHemuii® euflengulled Lo swelseien swel oy GomBaDI.
®) La oyeng eompgenmi® QaTLfsd o _siien Hafow  eeiumS 6l @enLBHene SN LI
srsmuGgs &ifl. '
FF) sun;r)g)emnm@ @@5&5;55@ alenenaurad Zr wppio HE @Q‘@ SIgY S WweLTmal
QummieiTerTent.
Which one of the following is not correct?
a) La(OH)s is less basic than Lu (OH)3
b) In Lanthanoid series ionic radius of Ln>*" ion decreases
c) La is actually an element of transition metal series rather than lanthanoid series.
d) Atomic radii of Zr and Hf are same because of lanthanoid contraction.
2. e ovema  Gsonisallsy ahe @am  LEREAW UGS MBlENEVLILH S5 EDLDGY LI
(CFSE) &n_p&mai?
o) [Mn(H,0)]*" <) [Fe(H:0)]*" @) [Co(H20)6]" ®) [Co(Ha0)e]™™



Among the following complexes, which one shows Zero Crystal field stabilization energy
(CFSE) is - it _

a) [Mn(H0)s]** b) [Fe(H:0)]*"  cj [Co(H:0)e]* d) [Co(H:0)s]™*

'5(3@&3 SiflenTene BIHB SIQIOITaITS (OTHHID @uﬁm

3l) ANSHH Q) 2 [HHGHH60 ®) FWeBeHsD F) STmleLeVTE _@gpeﬁlsi) SUMISHH60
The process of converting hydrated aluminia into amhydrpt:s alumina is called.

a) Roasting | b) Smelting  ¢) Auto-reduction  d) Calcination

BF: & mimbugdss Gurfles  oufsu aﬂm@eﬁaﬂmgj deenrt  LemBrm  Gumflé  onflsoons
rBPUUGSEBE.  YenCyr Gurfls ouflsugHsd 2 _siensnal

o) H', F & BF; o) H &[BF,] o) [HBFs]"&F  m) H',B"&F
On hydrolysis BF; gives Boric acid and converted to fluroboric acid. The fluoroboric acid

contains the species.

a) H', F & BF; b) H &[BFJ ¢) [H BF;]'&F  d) H',B"&F
deiieumn siflevriiseisd ahs ifsvgsso 0-0 dsmgomqu gmm@

i) H2S0s @) H:$:0, @) HS:0s ) HpS406

The acid having O-O bond in its structure '

2) H2SO; b) Hi$:0s o H:805  d) HyS4Op

OpGR&l  QuTdhs G@neﬂr&asmﬂaﬁ} clisniidbema N’ sTedllsl - BTSII(LPE . GIeMeETIET 6
a@ﬁrmﬂéasm&is.@_&mwn_ﬁ AmUUg). = _ -

S) n o) 2n @) 2n’* #) 3n

- The number of close packed spheres is ‘n’. The number of tetrahedral voids generated is equal

to 51 o s . .
a) n b) 2n : ¢) 2n? d) 3n

.2A+2B —> C+2D ai6hip allewenids@ oflenanGaus sils) esten? B-eir G‘l&@smsu LOTHMIWwed A-
@ Gzfle) QyamG wLBEG e wibHbeuTE, eloanuls Gaumwtais BrEE WL kSTADE.
Gogod  A-gir  Glepflemen orBmTLOSY  B-sit - Ganfley @yemih oL FusTEs &’uﬁ@@jm Gumrgl
allsmenuilelr Gousld @(HLOLMISTEmSE.

o) Gaumd =k[A][B]* - <) Gausb = k[A][B]

®) Geusib =k[A]”[B]? #) Gausb =k[AJ[B]

What is the rate law of the reaction 2A+2B—» C+2D If the concentration of A is doubled at

constant [B] the rate of the reaction increases by factor 4. If the concentration of B is doubled
at constant [A], the rate is doubled.

a) Rate =k[A][B]* - b) Rate = k[A][B]
c) Rate =k[A]” [B]? d) Rate = k[A][B]
. W/O ursbwgeng O/W umsoiowons IHDID Gguwisd wpsnmuITss)
3)) FfbEBursed Q) LTV desed () FlenBHeuant_gHe0 ) Mlemevenio GpBTommmLD

The change of W/O emulsion in to O/\W emulsion is Called

a) Coagulation b) Emulsification ¢) Decomposition d) Inversion of phase



9.

10.

11.

12.

9l eflQurme / LO6SI(Lpsmam

- ¢) basic, acidic. neutral

eI msit s e0sema, CuTgieuT s G Beug,y
[ A0sugag |Q*'51 i

' . : | ¢ [oNApsa [ oy dmGen
) e;:.ﬂ‘g;é]g@-smmgi\ /. WOt wpensy / eI 0 & (pemen / mrﬂ@urr([mb?h
@) efCurmesn / Wlsr(pemen / Weigaf / O ana / B &HE

F) uHFRCaumbn) / \Oeitpenes / Wshiiaan / DS / oFaHs

The gencral representation of a fuel cell is

a) Fucl / Electrode / Electrolyte / Electrode / Oxid

b) Oxidant / Electrode / Electrolyte / Electrode ; Fucl
¢) Fuel / Electrode / Electrolyte / Electrode / Reductant

ant

d) Oxidant / Electrode / Electrolyte / Electrode / Reductant
Gamouid AL L,
(pewmBW

Sl) BEHM, Sufeo, spiD
&) s, suflsud, BEHms

ABwrefund  @BCenmeny(,

) A6, BITD, HEHMEVSSHEELO
F) STJD, Hifsvd, SMHd

The aqueous solution sodium acctate, amomonium chloride, sodium nitrate are respectively E

a) Neutral, acidic, basic b) acidic, basic, neutral

d) basic, acidic. basic
UsiauGeausnsuBoish abe elmen Fhsmy Gsrdhben?
o) C;HsONa + C; Hs Br ——
@IL?IH:S(L B
o) CH; CH,; OH 413K
HBF4
@) CH3CH, OH+CH; N, A |
FF) (Bmg‘jaasﬁﬁu_ SIENEMEHSILD.
Which of the following reaction will give cther?
a) CszONa + Cz Hs Br —»
Con H,S0O y
b) CH; CH; OH 413K
- HBF4
i ™
¢) CH;CH, OH+CHa2 N2, A
d) All of the above.

G Gsomsabe Bmpuel sloouls soayfiub ool @pae afvr.

@BuIGssh

(1) CeHsCOCI (2) 0N~ —COC!
(3) CHy~/ )~ COCl (4) OHC— ~COC]
_94)2>4>:T>3 o) 2>4>1>1

@) 1>2>3>4 7) 4>3>2>|




14.

15.

Arrange the followling compounds in decreasing order of reactivity for hydrolysis reaction.

(1) CeHsCOCI @) OzN—Q_..(Z’O('Jl. "
(3) CH3—Q cocl () OHC'—Q'—{'C‘OCI
a) 2>4>1>3 by 2>4>1>1
c) 1>2>3>4 d) 4>3>2>1
NO2 NO2 T
'“‘T"'”'HBT -—-——b- (/\ . ‘A’ GTGDTLJ@]
N=N-Cl i
91 HaPO wpmio H, O &y H'/H,0
®) HgS04/H,S0, F) Cu,Cly
,/QIHz NOz
\r’/ﬁBr C‘Br
N=N-CI : "
a) H3PO, and H,0 b) H'/H,0 ¢) HgSO4/H,S04 d) Cu Cly
&ensECarery HCN  allensnGurmeit ﬁr,m[bug)&@si)b mﬂansn@un@ah_l{&“@&'rrmm A eaUg

ol), OapuLemuis ufleon ) 2-SICUTCLT ClansGs s

®) GeamiBL e ) QamLILemed

Glucose HCN Producf[ hydrolysis_ Product: HIA A, the compound ‘A’ is"
a) Heptanoic acid b) 2-iodohexane c) Heptane d) Heptanol "

i@ : @ Csmils SHroTens oI Oordhs Gsnipliuerey (TFM wﬂuu) gnguusml_u_‘ﬂeo

GOUILUUGS DS

siyemip: BIS &y diiemulsglely woed &7 GFmiysst @Geombs sd 60% TFM

&N BTN (HH @GHGRiI@ILb.

o) Fabp  wpop  emeud  @rewiGh  Fil Goenb  sryewib, SabpiGsTer  Filwrer
ST d&BLOTGID e, SRR

1) ebp  WpEld  smyeib  @yewiGl &Ml DienTed  &myewilD, "aé:,r_fﬁj@esrrm gflwimen
61161 B L0606V o

@) anip FM euTed SHTTEID HEUDI

W) SaBm WHBEID Sryenid (Bl Seupl

Assertion: The quality of soap is described in terms of total fatty matter (TFM value)

Reason : As per BIS Standards, Grade-I soaps should have 60% minimum TFM value.

a) Both assertion and reason are true and reason is correct explanation of assertion

b) Both assertion and reason are true but reason is not the correct explanation of assertion
¢) Assertion is true but reason is false.

d) Both assertion and reason are false.



16.

17.

18.

19.

20.

21.

22,

23.

ges@ID QU elamssmsg aa

Lweflge,
allenLwiellsaseayb.

ol a1 24 &@ @I LTS

Answer any six questions. Question No. 24 is compulsory.

€O 96 9bseb ammi. g6 aEsEGEM G Bsmibmy Doy
CO 1s a reducing agent, Justify with an example,

BOLBEm0S Hefiotims SFB 2 HEGBMmevenwLE OeremiBsiene. eei?
Transition metals show high melting points why?

BTETPE Leudhaled d-oumi s Lipdsysol ey UL suenye

In tetrahedral field, draw the figure to show spilitting of d-
BIH6T SPLL6d ALY elempmsd 6163160 ?

What is flocculation value?

orbitals.

S50 Ghe1 2 Coorsmismen Lrgmniss SIFTWemenLl LUTHISTIL eleuaurm 2_Seydimal?
How cathodic protection helps to protect the metal from corrosion?
LIS SBULNETS6T sTeiiLg) wrgl? o _sryemid Q.

What are Antiseptics? Give an example |

QeLm gl - Clowisband (wemp LBY sTEIB

Write a note on Sabatier — mailhe method?

Ug&. = I1/ Part — II : 6x2=12

Surmdls  oufleod Aphs @BEGIL  srFeiuTs QeweLBEBH 61?7 QBESGID LSienLS
BTLBD @ elenarem 6T1pHIS iy : & :

Why formic acid act as strong reducing agent? Give one equation to show its reducing
property.

PH6D ,sn_agmlaz, allenenuileir  ellenanGous worHledulslr  wHIY  1.54%X107° ST aeflsd  SiHen
alsa)gsur}@e}ansu& &em1BLIQ 8.

The rate constant for a first order reaction is 1.54x10 S™ Calculate its half life time.

ugg® — III/Part—III 6x3=18
gﬁmw amn alaméseEnse o welds. elem el 33 &g SLLTLTS
ellenL_wieféaayLb. .
Answer any six questions. Question No. 33 is compulsory.
Leusamuienowmdssy Ll Gl euemnys
Write short notes on Zone refining process.
Qi 2 (), omemeys Gamosaledmba aeiaurpn CampuGaBs?
How double salt differs from co-ordination compounds?
Ti*, Mn** swefsafiiss 2 _sten saflss aevslgrasais aaiafsmsmu saiGUly wHmD
SIBYleT SThGHH HHULSHBET WAL HesisdBHs.
Calculate the number of unpaired electrons in Ti**, Mn*" and calculate the spin only Magnetic
moment.
SIOe0HTEIEED SenTFeden GFwsO(enmen 6ll6ToHEGHS
Explain buffer action of acidic buffer



29,

30.

31.

32.

a2
Ll

34.

oGO

U@l susmad  allsnen STENDTEL 6T6dan? LMl susnas olsmans@ Gaums ol Henii miys,
What is Zero order reaction? Derive rate law for a Zero order reaction.

Lgss  enlisGHTanar 1ommin DNHHIB  EHTUIM).

Define the terms crvstal Jattice and unit cell

1) 1-7&s1Haiygi-1-mFsmer m  Gwrsd  HI s s elewsnUuBhoHInCuTH »_
(WPHHENL DHGLN iHenand; FHEHI_T 5.

The major produet formed when I-cthoxy prop-lene is heated with one equivalent of H1
i) 1-0eneisd aidmannenso sl HVbHH KMnOy 2 _Lei allansiiubha sisisn 6 31
What happens when I-phenyl ethanol is treated with acidified KMnO,?

CaFsbenGsuTay WBMID HE:G Tandss Y SIENOLIL|SHENET  SUED] .

Draw the structures of cellulose and Sucrose.

Ueieumd sfsnsusuflsnaulst o sitsn A. B wppiw C 8w G&nmraf&seman SHHIL LGS

'HgO . . H,O.  NaNOy/HCI
CH:CHaNC > A > 3 - »
. H,0 :
Identify Compounds A. B and C in the following sequence of reaction.
HgO H,0 NaNO,/HCl |
CH3CH2MC —> A ———> B = —> -
ugg -IV / Part-IV. e - 5%5=25

ﬂpasmrr@w Ol 3001 %: 3651 milsml_u_lsrﬂﬁessuw
Answer the following questions. . .
a) 1) [Fe (en); Cly] Cly sy @ismemioys GoTLomIBETh S,
1) Fe-sit ouabdleaBanim  stow -
2) BansESeol IOBBID DY
3) BMhHsH HEVEMLO g &
4) suger OTHBIWIRIGETST sTaviTsnilbanas
5) @allapmd wrbiwb 2 _swr?
6) I[UPAC Guuwrr :
AF LU S1UDHIS
(i) odsiwugs sremed Cry0, g Cr oum sieieuTy) PEHBEILGSBH?
(ELTVRVE))

b) i) Xe-sit Gamiomisensn DHHDT  611pHIS DBl BB, OHHD &
NBIIDDB 611051,
a) 1) For the complex [Fe (en), Cly] Cly, identify
I)Oxidation number of Fe
2) Hybridisation and shape
3) Magnetic behavior
4) Number of geometric isomers
5) Whether there may be opltcal iIsomer also?
6) IUPAC name.



Fad
T

20.

37.

a)

a)

aj

b)

a)

- a)

a)

b)

a)

a)

i) How Cr203 is reduced to Cr by A1 powder?
. (OR)
i) - List any five compounds of xcnon and mention the type of hybridization and Structurc
ol the compounds. | ;
1) DmswiaF Gampnimalsii o hhamil Lsismst @gswh GPLlGs.
i) BEIHm wnmpfumiset ssINTAY SiaieN’ S P_STIamIhHILe s Es.
MGUALI

-

D odfann DT fa] ST o B SUUTIE el (pANBEeDAT A a1 s
1) Gal{ BIail o3l Lo dydyi i LI Lt D539 in )14,
i) Writc any two medicinal uses of co-ordination compounds
i) What arc hydrate isomers? Explam with an example.
(OR) _
i) - Write any three condensation methods of preparation of colloids
i) Mention the medicinal uses of colloids, e :
aedenie 10, O BB asCenin Sy SIID B_hamd@d 2 e BITHL@SHS6D
s’ woBmI pH - eydlwmmsny ermsi.
: E (-_’;‘nl{y":‘:-'ﬂ'i-‘_i')|}
1) OB 2_HefiTHs0 LIBT iy aIsnyh
1) enpl Gy g;,{,aijf(?:&mﬁrmmi@jl LILUSTEBANAT 51151,
Derive expression for hydrolysis constant and pH of Salt of weak acid and strong base.
' g s i (OR) W
i) Write a notc on formation of « -hehx. :
i1)  Write the uses of nitroalkanes. .-
1) AIQENMIGAT DML AFsUHS ) aTem&a;a‘f?a}il DUQUILIMLUTED  LIGOLIQ&EH6IT  6T6ISITDI
ANBLILBHBHILGAMHI] HFHICMTHNIBBHID 2 _Hrgaid CETHHSHNLD.
" (DIB0NB) | |
i) eIHHaMTUIE .:.;’94115':_61}& At HaSO, (psiiafeneoulsd  sIdESEMTEIL 65T ellemenyflujbGuimgy)
s HHPOADE? B TGP eilaTds .
i) Geramaimaupmsd wambmad Gatai sl el QLIS Fnmis.

il
4

(1) euramiplIuip  LoGmILD (3) isianrdFAULY amb
(2) F6EHhdlUp LDEMID (4) ATHIEVILLULD - LDENILD

How polymers are classificd on the basis of structure and molecular forces, give examples

of cach one..
(OR)
i)  What happens when cthanoic acid reacts with ethanol in the presence of con H,SO;, .
Give its comp_i(f:_tc mechanism, |
if) Name the ester which has the (ollowing flavour?

() Banana (3) Pincapple

(2) Orange () Apricot
i 2m FCC amioinisd Lysiotadnm. Qs oise SILTHE 10gem™ wimib DIFHE
DIOGHII_YsS  ellalfibl) s 100pMm. g uBHHO 2660 DliemIBseilen

ST6UT6N Handr U 15060 & SamIL N3 .
[ BIF0RF])



b)

C2HgO (A) o1eip sflog Geimod @it HySO4 o _Leir 443K-60 QeuliLiLBSs Bevmeynrs
ol Gyrariust C;Hy  (B) & Osr@adings. @somar Qsriimbs  GUWTSTyemiyL s
almaiuBGshs  Bsfiob CHeO, (C) Gan@ésdnz. B srefwid Bwbsybssis
GreBuLitseflsd o ep et GQurmemtsl LweELEABE. Gsiwd (C) o HaSO,
aumemeY  aUpSGWBLTEHI euenstwis  Gairwwmew (C4HgO2) (D) b OsrBsams.  Buwsvid
Geond (A) & onfr HpSOs 2 reir 413K-60 Gauuiu@ss Gsmob CiHioO (E) 26
CsThossimg aaflsd (A) upsed (E) susmy o siten Gsmomismend SemiLfibg elenarsemen

 6T(DSIS.

b)

An atom crystallizes in FCC crystal lattice and has a density of 10gcm'3 with unit cell edge
length of 100pm. Calculate the number of atoms present in 1g of crystal.
(OR) |

An organic compound C,H¢O (A) heated with Con H;SO4 at 443K to give an unsaturated
hydrocarbon C; Hy (B), which on treatment with Bayer’s reagent to give compound C;HgO;
(C) which is used as antifreeze in automobile radiator. Compound (C) distilled with con
H,S0Oy4 to give cyclic compound C4HgO; (D). Compound (A) is heated with Con H,SOy at
413K to give compound C4H;O (E). Identify Compounds (A) to (E) and write equations.

www.waytosuccess.org





